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Child Development and Pedagogy
Directions: Answer the following questions (Q. Nos. 1 to 30) 
by selecting the correct/most appropriate options.
1.	 Two students read the same passage yet construct 

entirely different interpretations of its meaning. 
Which of the following is true about them?
(1)	 It is not possible and the students need to re-

read the passage.
(2)	 It is possible because the teacher has not 

explained the passage.
(3)	 It is possible because different factors affect 

learning of individuals in varied ways.
(4)	 It is not possible because learning is not meaning-

making.
2.	 According to the national curriculum framework, 

2005, learning is __________ and __________ in its 
character.
(1)	 active; social	 (2)	 passive; simple
(3)	 passive; social	 (4)	 active; simple

3.	 To enable students to think independently and 
become effective learners, it is important for a 
teacher to:
(1)	 offer rewards for each success achieved by the 

students
(2)	 teach students how to monitor their own 

learning
(3)	 give information in small units or chunks
(4)	 present information in an organized manner to 

make it easier to recall
4.	 If a teacher wants her students to acquire problem-

solving skills, the students should be engaged in 
activities that involve:
(1)	 structured worksheets containing multiple-

choice questions
(2)	 recall, memorization and comprehension
(3)	 drill and practice
(4)	 inquiring, reasoning and decision making

5.	 Knowing the naive conceptions that students bring 
to the classroom:
(1)	 pulls down the teacher’s morale since it increases 

his work
(2)	 does not serve any purpose of the teacher
(3)	 helps the teacher to plan teaching more 

meaningfully
(4)	 hampers the teacher’s planning and teaching

6.	 Which of the following factors affect learning?
	 (i)	 Motivation of the learner.
	 (ii)	 Maturation of the learner.
	 (iii)	Teaching strategies.
	 (iv)	Physical and emotional health of the learner.

(1)	 (i), (ii), (iii) and (iv)	 (2)	 (i) and (ii)
(3)	 (i) and (iii)	 (4)	 (i), (ii) and (iii)

7.	 Meaningful learning is:
(1)	 pairing and association between the stimulus 

and the response
(2)	 imitation of adults and more able peers
(3)	 passive receiving of the given information
(4)	 active creation of knowledge structures from 

personal experience
8.	 Which of the following is not one of the primary 

tasks of a teacher for effective student learning?
(1)	 Transmitting information to the students in a 

didactic manner.
(2)	 Knowing the concepts that students bring to the 

classroom.
(3)	 Requiring students to respond to higher-order 

questioning.
(4)	 Teaching students how to monitor and improve 

their own learning by effort.
9.	 Which of the following statements about principles 

of development is incorrect?
(1)	 Development depends on maturation and 

learning.
(2)	 Development takes place due to a constant 

interaction between heredity and environment.
(3)	 Every child goes through stages of development, 

yet there are wide individual differences among 
children.

(4)	 Development is a quantitative process which can 
be measured precisely.

10.	 The unique interaction of __________ and 
__________ can result in different paths and 
outcomes of development.
(1)	 challenges; limitations
(2)	 heredity; environment
(3)	 stability; change
(4)	 exploration; nutrition

11.	 Which of the following is true of school and 
socialization?
(1)	 School is an important agent of socialization.
(2)	 School does not play any role in socialization.
(3)	 School plays very little role in socialization.
(4)	 School is the first primary agent of socialization.

12.	 Which of the following statements is correct about 
Jean Piaget’s theory of cognitive development?
(1)	 Piaget argues that instead of progressing through 

stages, cognitive development is continuous.
(2)	 Piaget has proposed five distinct stages of 

cognitive development.
(3)	 The stages are invariant which means that no 

stage can be skipped.
(4)	 The sequence of the stages can vary according to 

the cultural context of children.
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13.	 The concept of ‘conversation‘ as proposed by Jean 

Piaget means that:
(1)	 it is important to protect wildlife and forests
(2)	 certain physical properties remain the same even 

when outward appearances change
(3)	 one can arrive at the correct conclusion by 

systematically testing hypothesis
(4)	 taking the perspective of others into 

consideration is an important cognitive ability
14.	 Match the following in the light of Howard 

Gardner’s theory of Multiple Intelligence:
	 Type of Intelligence		  End State
	 (a)	 Musical	 (i)	 Therapist
	 (b)	 Linguistic	 (ii)	 Poet
	 (c)	 Interpersonal	 (iii)	Athlete
	 (d)	Spatial	 (iv)	Violinist
	 		  (v)	 Sculptor

	 (a)	 (b)	 (c)	 (d)
(1)	 (v)	 (ii)	 (iv)	 (i)
(2)	 (ii)	 (iv)	 (i)	 (v)
(3)	 (iv)	 (ii)	 (i)	 (v)
(4)	 (iv)	 (ii)	 (v)	 (iii)

15.	 According to Lev Vygotsky:
(1)	 interaction with adults and peers does not 

influence language development
(2)	 language development changes the nature of 

human thought
(3)	 culture plays a very small role in language 

development
(4)	 children learn language through a language 

acquisition device
16.	 Lawrence Kohlberg’s theory of moral reasoning 

has been criticized on several counts. Which of the 
following statements is correct in the context of this 
criticism?
(1)	 Kohlberg has not given typical responses to each 

stage or moral reasoning.
(2)	 Kohlberg has duplicated Piaget’s methods of 

arriving at his theoretical framework.
(3)	 Kohlberg’s theory does not focus on children’s 

responses.
(4)	 Kohlberg has based his study primarily on a 

male sample.
17.	 Which of the following highlights assessment for 

learning?
(1)	 The teacher assesses conceptual understanding 

of the students besides focussing on the 
processes of thinking.

(2)	 The teacher assesses the students by comparing 
their responses to ‘standard‘ responses.

(3)	 The teacher assesses the students based on the 
information given in the textbooks.

(4)	 The teacher assesses a student based on his/her 
performance in comparison to others.

18.	 ‘Child-centred‘ pedagogy means:
(1)	 the teacher dictating the children what should 

be done
(2)	 giving primacy to children’s experiences and 

their voices

(3)	 enabling the children to follow prescribed 
information

(4)	 the teacher leading all the learning in the 
classroom

19.	 Which of the following statements describes Piaget 
and Vygotsky’s views on language and thought 
correctly?
(1)	 According to Vygotsky, thought emerges first and 

according to Piaget, language has a profound 
effect on thought.

(2)	 According to Piaget, thought emerges first and 
according to Vygotsky, language has a profound 
effect on thought.

(3)	 Both view thought as emerging from the child’s 
language.

(4)	 Both view language as emerging from the child’s 
thought.

20.	 Watching her granddaughter arguing with her 
father for going on a school trip, the grandmother 
says, “Why can’t you be obedient like a good girl? 
Who will marry you if you behave like a boy?“ This 
statement reflects which of the following?
(1)	 Gender constancy.
(2)	 Gender stereotypes about attributes of girls and 

boys.
(3)	 Improper gender identification of the girl.
(4)	 Difficulties faced by families in child-rearing.

21.	 Which of the following statements about assessment 
are correct?
(a)	 Assessment should help students see their 

strengths and gaps and help the teacher fine-
tune her teaching accordingly.

(b)	 Assessment is meaningful only if comparative 
evaluations of students are made.

(c)	 Assessment should assess not only memory but 
also understanding and application.

(d)	Assessment cannot be purposeful if it does not 
induce fear and anxiety.

(1)	 (b) and (c)	 (2)	 (a) and (b)
(3)	 (b) and (d)	 (4)	 (a) and (c)

22.	 According to the Right to Education Act, 2009, 
children with special needs should study.
(1)	 at home with their parents and caregivers 

providing necessary support
(2)	 in special schools created exclusively for them
(3)	 in inclusive education setups with provisions to 

cater to their individual needs
(4)	 in vocational training centres which would 

prepare them for life skills
23.	 An effective teacher in a classroom, where students 

come from diverse backgrounds, would:
(1)	 push students from deprived backgrounds to 

work hard so that they can match up with their 
peers

(2)	 focus on their cultural knowledge to address 
individual differences among the group

(3)	 ignore cultural knowledge and treat all his 
students in a uniform manner

(4)	 create groups of students with those from the 
same economic background put together
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24.	 Match the following principles of development with 

their correct descriptions:
	 	 Principle	 Description
	 (a)	 Proximodistal	 (i)	 Different children
	 	 trend		  develop at different
	 			   rates
	 (b)	 Cephalocaudal trend	 (ii)	 Head to toe
	 			   sequence
	 (c)	 Interindividual	 (iii)	In a single child,
	 	 differences		  the rate of
	 			   development can 
	 			   vary from one
	 			   domain of
	 			   development to the
	 			   other
	 (d)	 Intraindividual	 (iv)	From the centre of
	 	 differences		  body to outwards
	 		  (v)	 Progression from 
	 			   simple to complex

		  (a)	 (b)	 (c)	 (d)
(1)	 (v)	 (ii)	 (i)	 (iii)
(2)	 (ii)	 (iv)	 (i)	 (iii)
(3)	 (ii)	 (iv)	 (iii)	 (i)
(4)	 (iv)	 (ii)	 (i)	 (iii)

25.	 Which of the following statements about cognition 
and emotions is correct?
(1)	 Cognition and emotions are intertwined and 

affect each other.
(2)	 Cognition and emotions are processes 

independent of each other.
(3)	 Cognition affects emotions but emotions do not 

affect cognition.
(4)	 Emotions affect cognition but cognition does not 

affect emotions.
26.	 In an inclusive classroom with diverse learners, 

cooperative learning and peer-tutoring.
(1)	 should be used only sometimes since it promotes 

comparison with classmates
(2)	 should be actively discouraged and competition 

should be promoted
(3)	 should be actively promoted to facilitate peer-

acceptance
(4)	 should not be practised and students should be 

segregated based on their abilities
27.	 A teacher can address diversity in her class by:
	 (a)	 accepting and valuing differences
	 (b)	 using socio-cultural background of children as a 

pedagogic resource
	 (c)	 accommodating different learning styles
	 (d)	giving standard instruction and setting uniform 

benchmarks for performance
	 Select the correct answer using the code given 

below.
(1)	 (a), (b), (c) and (d)	 (2)	 (a), (b) and (d)
(3)	 (b), (c) and (d)	 (4)	 (a), (b) and (c)

28.	 A teacher asks her class to cover sharp edges of 
furniture with cotton and use ‘Touch and Feel‘ notice 
boards and books. The needs of which category of 
special learners is she attempting to cater to?
(1)	 Visually-impaired learners.
(2)	 Hearing-impaired learners.

(3)	 Learning-impaired learners.
(4)	 Socially disadvantaged learners.

29.	 Gifted children are best catered to by educational 
programmes that:
(1)	 make use of gifts and reward to motivate them 

to perform according to minimum standards of 
learning

(2)	 emphasize mastery of knowledge by recall
(3)	 stimulate their thinking and give them 

opportunities to engage in divergent thinking
(4)	 control their aggressive behaviour

30.	 Which of the following statements about students 
failure in schools are correct?

	 (a)	 Students belonging to certain castes and 
communities fail since they do not have ability.

	 (b)	 Students fail in schools because appropriate 
rewards are not offered for their learning.

	 (c)	 Students fail because teaching is not done in a 
manner in which it is meaningful to them.

	 (d)	Students fail because school system does not 
cater to individual child’s needs and interests.
(1)	 (c) and (d)	 (2)	 (b) and (c)
(3)	 (b) and (c)	 (4)	 (b) and (d)

Mathematics & Science
Directions: Answer the following questions by selecting the 
correct/most appropriate options.
31. 	 Neeta, a class VII mathematics teacher, assigns a lot 

of survey-based projects to mathematics classroom. 
The purpose of such activity is:
A.	 to promote problem-solving skills
B.	 to give an opportunity  to students to collect 

authentic data
C.	 to break the monotony of the classroom
D.	 to use it as an alternate assessment

	 Which of the above purpose are true ?
(1)	 A, B and C	 (2)	 A and B
(3)	 A and C	 (4)	 A, B and D

32.	 Which of the following term in mathematics is 
defined?

	 (1)	 Point	
	 (2)	 Line

(3)	 Diagonal of a quadrilateral	
(4)	 Plane

33.	 Which of the following is not an important aspect in 
‘algebra’?
(1)	 Visualization	 (2)	  Measurement
(3)	 Transportation	 (4)	 Generalization

34.	 ‘Problem posing’ in mathematics means:
(1)	 inability to solve problems	
(2)	 raising doubts in the class
(3)	 solving problems
(4)	 creating problems from the content

35.	 A good mathematics textbook contains a lot of:
(1)	 questions for exploration
(2)	 question for practice
(3)	 worked out examples
(4)	 theorems and proofs
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36.	 Consider the following statement:
	 “Every odd natural number is a prime number.”
	 Which of the following methods of ’proof ’ can be 

used to prove/disprove the above statement ?
(1)	 Method of disproof
(2)	 Direct proof
(3)	 Proof by contrapositive
(4)	 Proof by contradiction

37.	 Which of the following is not a contributing factor 
responsible for mathematics anxiety?
(1)	 Nature of subject	 (2)	 Gender
(3)	 Examination system	 (4)	 Curriculum

38.	 Which of the following fraction does not lie between
 −5

6  
and

 

7
8

?

(1)
	

5
6 	

(2)
	

−17
24

(3)
	

−3
4 	

(4)
	

−11
12

39.	 The reciprocal of
 

3
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is:

(1)
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(2)

	

−9
125 	

(3)
	

125
9 	

(4)
	

9
125

40.	 If (132 – 52)3/2 = 63 × A, then the value of A is:
(1)	 24	 (2)	 2
(3)	 22	 (4)	 23

41.	 If x y243 867= ,  where x and y are co-prime 

numbers, then the value of (x – y) is:
(1)	 8	 (2)	 3
(3)	 4	 (4)	 6

42.	 The sum of all possible values of a, for which the 
4-digit number 547a is divisible by 3 is:
(1)	 15	 (2)	 7
(3)	 10	 (4)	 13

43.	 A common factor of x4 – 256, x3 – 4x2 + 3x – 12 and 
x2 – 7x + 12 is:
(1)	 x – 3	 (2)	 x + 4
(3)	 x – 4	 (4)	 x + 3

44.	 On dividing the polynomial 8x3 – 6x2 + 10x + 3 by 
(4x + 1), the quotient 2x2 + k, where k is equal to:
(1)	 –3 + 2x	 (2)	 3 – 2x
(3)	 3 + 2x	 (4)	 –3 – 2x

45.	 In the product of (9x2 + 15 – x) and  (–1 – x + x2), 
if A, B and C are the coefficients of x3, x2 and x 
respectively, then the value of (A + B – C) is:
(1)	  14	 (2)	 –3
(3)	 –17	 (4)	 11

46.	 When x =
1
9  

and
 

y �
�3
4

, then the value of 

expression 81x2 + 16y2 – 72xy:

(1)	
9

16 	
(2)	 25

(3)	 16	 (4)	
9
4

47.	 Abhi is twice as old as his daughter. Five years  ago, 
his age was  four times his daughter’s age. If the 
present age of this daughter is x years, then : 
(1)	 2(x – 5) = 4 (2x + 5)	 (2)	 2(x – 5) = 4(2x – 5)
(3)	 4(x – 5) = 2x – 5	 (4)	 4(x + 5) = 2(2x – 5)

48.	 A sum of ` 6,250 at 8% per annum, compounded 

annually, after
 

2
3
4  

years amounts to:

(1)	 ` 7,872.60	 (2)	 ` 7,165.60
(3)	 ` 7,581.40	 (4)	 ` 7,727.40

49.	 A person marks his goods 40% above the cost price 
and allows 40% discount on the marked  price. His 
loss/gain percent is: 
(1)	 No loss/gain	 (2)	 loss, 8%
(3)	 gain, 10%	 (4)	 loss, 16%

50.	 The angles of a quadrilateral are in  the ratio 2 : 3 : 5 
: 8. The sum of the supplement of the largest angle 
and the complement  of the smallest angle is:
(1)	 80°	 (2)	 50°
(3)	 60°	 (4)	 70°

51.	 Two sides of a right angled triangle measure 15 cm 
and 17 cm. Which of the following statements can be 
true for the length of the third  side of the triangle?
A.	 It is between 4 cm and 7 cm.
B.	 It is between 20 cm and 27 cm.
C.	 It is less than  10 cm.
(1)	 A and C only	 (2)	 B only
(3)	 A and B only	 (4)	 B and C only

52.	 If one angle of a triangle is 110°, then the angle 
between  the bisectors of the other two angles 
measures:
(1)	 145°	 (2)	 90°
(3)	 100°	 (4)	 110°

53.	 In  D ABC, AB = 4 cm, AC = 5 cm and BC = 6 cm. 
In D PQR, PR = 4 cm,  PQ = 5 cm and RQ = 6 cm. 
D ABC is congruent to :
(1)	 D RPQ	 (2)	 D PQR
(3)	 D PRQ	 (4)	 D QRP 

54.	 A tank is in the form of a cuboid. It holds a maximum 
of 540 m3 water. If the tank is 8 m long and 15 m 
wide,  then how many metres  deep must the water 

be when the tank  is
 

2
3  

full?

(1)	 4.5	 (2)	 2
(3)	 2.5	 (4)	 3

55.	 The ratio of the areas of two equilateral triangles is 
16 : 9. If the perimeter of the smaller triangle is 63 
cm, then  how much larger  is a side of the larger 
triangle than a side of the smaller triangle ?
(1)	 7 cm	 (2)	 3 cm
(3)	 4 cm	 (4)	 5 cm

56.	 The area of a triangle is equal to the area  of a circle 
whose perimeter is 6p cm. If the base of the triangle 
is 8 cm, then its corresponding height (in cm) is:
(1)	 2.25	 (2)	 p
(3)	 2	 (4)	 2.25p

57.	 The mean of mode, median and range of the data:
	 2, 1, 2, 3, 3, 6, 4, 8, 14, 9, 4, 8, 4 is:

(1)	 9	 (2)	 4
(3)	 6	 (4)	 7
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58.	 Some students of your class  are repeatedly not able 

to do well  in mathematics examinations and tests. 
As a teacher  you would:
(1)	 explain  the consequences of not doing well	
(2)	 give more tests for practice
(3)	 diagnose the causes and take steps for 

remediation
(4)	 make them  sit with high  achievers

59.	 In an inclusive mathematics classroom, what would  
be your strategy for addressing the needs of visually 
challenged learners?
(1)	 Design alternate teaching-learning and 

assessment methods.
(2)	 Send the learners to a special educator.
(3)	 Offer them another subject in lieu of mathematics.
(4)	 Pair them with high scorers in mathematics.

60.	 Which of the following assessment strategies can 
be used to assess learners’ interest in an attitude to 
mathematics?
(1)	 Oral tests, Paper-pencil test, Class participation
(2)	 Checklist, Portfolio, Paper-pencil test
(3)	 Checklist, Portfolio, Project, Class participation
(4)	 Portfolio, Project, Paper-pencil test

61.	 Which of the following is not a purpose of conducting 
practicals/experimental activities in science?
(1)	 They help in scoring high grades or marks.
(2)	 They enhance understanding of science ideas.
(3)	 They provide an opportunity for problem 

solving.	
(4)	 They help in developing manipulative skills.

62.	 A few small wax pieces are fixed at nearly equal 
distances on a flat strip of aluminium. One end of 
the strip is clamped to a stand and the other end is 
heated. Consider the following statements A and B:
A.	 Wax pieces begin to fall one-by-one in the order 

of their increasing distance from the flame.
B.	 Aluminium strip transfers heat from the end 

nearest to the flame to the other end.
	 Of the two  statements given above:

(1)	 Both A and B are inferences	
(2)	 A is observation and B is inference
(3)	 B is observation and A is inference	
(4)	 Both A and B are observation

63.	 The students of Class-VII are asked the following 
question by a teacher:

	 “Two identical cubes of ice are taken out of 
refrigerator. One is crushed and the other is left as 
it is. It is noticed that the crushed ice melts faster. 
What could be the reason?

	 Which process skill is promoted through this 
question?
(1)	 Experimentation	 (2)	 Observation
(3)	 Hypothesizing	 (4)	 Controlling variables

64.	 A teacher of Class-VII  demonstrates the following  
activity in the class:

	 “A leaf is put in a test tube and spirit is poured over 
it. Then the test tube is put in beaker half-filled with 
water and heated till the leaf is discoloured. The 
leaf is then taken out and a few drops of iodine is 
poured on it. The leaf turns blue-black  in colour.”

	 After this activity, the teacher gives  some questions 
for the assessment of various indicators of learning.

	 Which of the following would assess ‘analysis’?
(1)	 What precaution is taken to prevent damage  to 

the leaf?	
(2)	 What precaution is taken  while pouring spirit 

into the test tube?
(3)	 What happens to the colour of the leaf when 

solution is poured on it?	
(4)	 Can this test be done without removing 

chlorophyll?
65.	 You want your Class VI students to figure out 

that  the property  of solubility of salt in water can 
be used to separate a mixture of sand and salt. As 
a supporter of inquiry-oriented pedagogy,  you 
would:
(1)	 provide the mixture of sand and salt to students, 

ask them to think up different ways of separation 
and help them in trying out their  ideas 	

(2)	 explain  different methods of separation of 
mixtures first and explain  the separation of sand 
and salt mixture

(3)	 ask students to hypothesize different ways 
in which  a mixture of sand and salt can be 
separated and lead them to the correct answer  
through detailed explanations	

(4)	 take a mixture  of sand  and salt, demonstrate its 
separation and then ask students  to repeat it on 
their own

66.	 Which among the following statement describes the 
relationship  between  science and technology?
(1)	 Science is a broader endeavour while technology 

is goal-oriented  and often  locale-specific.	
(2)	 Technology is a more creative process as 

compared to science.
(3)	 Science is an ancient enterprise but technology is 

relatively recent.	
(4)	 Science and technology proceed independently 

and in isolation from each other.
67.	 Which among the following is not a single flower 

but a group of flowers?  
(1)	 Datura	 (2)	 Rose
(3)	 China rose	 (4)	 Sunflower

68.	 A bicycle is moving on a straight  road at a constant 
speed. The wheels of the cycle exhibit:
(1)	 circular, translation and periodic motion.
(2)	 circular and translational motion.
(3)	 translational and periodic motion.
(4)	 circular and periodic motion.

69.	 Suppose you are a farmer living at a place having 
black soil. If the climate of your region is warm  and 
you want to grow fibre-yielding  plants in your fields, 
then which of the following  would you prefer?
(1)	 Rayon	 (2)	 Coconut
(3)	 Jute	 (4)	 Cotton

70.	 Choose the odd one out.
(1)	 Embryo	 (2)	 Egg
(3)	 Ovum	 (4)	 Gamete

71.	 The function of saliva is to:
(1)	 convert starch into sugars.
(2)	 prevent the food from entering  the windpipe.
(3)	 convert  carbohydrates into proteins.
(4)	 convert starch into fat.
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72.	 Which of the following statement is correct?

(1)	 Both inhaled air and exhaled air contain  
oxygen.	

(2)	 Inhaled air does not contain  carbon dioxide.
(3)	 Exhaled air does not contain  oxygen.	
(4)	 Exhaled air does not contain carbon dioxide. 

73.	 Ritu is standing in front of a plane mirror. The 
distance between Ritu and her image is 10 m. If she 
moves 2 m towards the mirror, then the distance 
between Ritu and her image is:
(1)	 8 m	 (2)	 10 m
(3)	 12 m	 (4)	 6 m

74.	 You have three test tubes X, Y and Z half-filled 
with different solutions, as X is filled  with sodium  
chloride  solution, Y is filled with sodium hydroxide  
solution  and Z is filled with dilute hydrochloric  acid. 
On adding one drop of phenolphthalein solution to 
each of the above solutions, you would observe the 
solutions in the test tubes  as:
(1)	 X is colourless; Y is pink and Z is colourless	
(2)	 X is pink; Y is pink and Z is colourless
(3)	 X is pale green; Y is colourless and Z is red
(4)	 X is colourless; Y is pale green and Z is pink

75.	 In our mouth, the arrangement  of different types of 
teeth from front to back is:
(1)	 canine-incisor-molar-premolar	
(2)	 incisor-canine-premolar-molar
(3)	 canine-incisor-premolar-molar	
(4)	 incisor-canine-molar-premolar

76.	 In plants and trees, water goes up high due to 
suction pull. Which of the following phenomena 
causes this suction full?
(1)	 Photosynthesis	 (2)	 Transpiration
(3)	 Respiration	 (4)	 Absorption

77.	 Which of the following is the reproducing part of 
ginger?
(1)	 Leaf	 (2)	 Root
(3)	 Stem	 (4)	 Seed

78.	 Which among the following liquids are conductors 
of electricity?
A.	 Vinegar	 B.	 Sugar solution
C.	 Salt solution	 D.	 Distilled  water
(1)	 B and C	 (2)	 A, C and D
(3)	 A and C	 (4)	 C and D

79.	 Consider the following statements:
A.	 Plants can survive for some time even without  

photosynthesis.
B.	 Plants can survive for some time even without 

respiration.
C.	 Photosynthesis and respiration both are essential 

for the survival  of plants.
D.	 Photosynthesis and respiration both  are 

simultaneous process in plants during daytime.
	 The correct statements are:

(1)	 A, B and D	 (2)	 A, B and C
(3)	 B, C and D	 (4)	 A, C and D

80.	 A block of wood is lying at rest on a table. What can 
be said about the force(s) acting on it?
(1)	 Gravitational and frictional forces are acting on 

it.
(2)	 There is no force acting on it.
(3)	 There is a pair of balanced forces acting  on it.
(4)	 Only gravitational force is acting on it.

81.	 Which type of leaf pattern,  i.e., leaf venation and 
root type are present in bamboo?
(1)	 Reticulate venation and tap root	
(2)	 Parallel venation  and fibrous root
(3)	 Parallel venation and tap root	
(4)	 Reticulate venation and fibrous root

82.	 Which of the following fact is not correct about 
magnets ?
(1)	 Magnetic field lines originate from north pole 

and merge at south pole of a magnet.	
(2)	 Attraction is a sure test of magnetism.
(3)	 Like poles of magnet repel  each other.	
(4)	 Magnetic field is stronger at the poles of a bar 

magnet.
83.	 Match the following metals and non-metls  with 

their uses :

Places Types of houses

(a)	 Iodine (i) 	 Water purification

(b)	 Mercury (ii)	 On wounds

(c)	 Aluminium (iii)	 Thermometers

(d)	 Chlorine (iv)	 Food packaging
	 (a)	 (b)	 (c)	 (d)
(1)	 iv	 ii	 iii	 i	
(2)	 i	 ii	 iii	 iv
(3)	 ii	 iii	 iv	 i	
(4)	 iii	 ii	 iv	 i

84.	 Select the true statement from the following:
(1)	 Melamine is a thermoplastic whereas bakelite is a 

thermosetting plastic.	
(2)	 Bakelite and melamine are both thermoplastics.
(3)	 Bakelite and melamine are both thermosetting 

plastics.	
(4)	 Bakelite is a thermoplastic whereas melamine is a 

thermosetting plastic.
Directions: Question Nos. 85 to 87 are based on the following 
passage.
A teacher of Class VIII demonstrates the following activity in her 
class :
“The teacher takes a small amount of sulphur in a spoon and burns 
it. She then puts the spoon into a tumbler with a lid to ensure 
that the gas produced does not escape. After a few minutes, she 
adds water to the tumbler.”

85.	  What happens if blue and red litmus papers are put 
into the tumbler?
(1)	 No change in both.
(2)	 Blue litmus turns red.
(3)	 Blue litmus remains blue.
(4)	 Red litmus turns blue.

86.	 In the above demonstrated activity, which substance 
is formed when sulphur dioxide is dissolved in 
water?
(1)	 Sulphur hydroxide	 (2)	 Sulphuric acid
(3)	 Sulphuric oxide	 (4)	 Sulphurous acid

87.	 Which process skills can be promoted through the 
above activity?
(1)	 Observation and controlling variables.
(2)	 Observation, inference and measurement.
(3)	 Observation, classification and inference.
(4)	 Observation and measurement.
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88.	 A science teacher asks her students to put two drops 

each of oil and sugar solution on a flat surface. She 
then asks them to tilt the surface and observe the 
order in which the drops reach the bottom. Which 
property of the liquids is the teacher trying to bring 
to the students’ attention through this activity?
(1)	 Point	 (2)	 Viscosity
(3)	 Solubility	 (4)	 Volume

89.	 You find that many of your Class VI students believe 
that raw material for plant growth comes only from 
the soil. Which among the following would be the 
most appropriate strategy to counter this idea?
(1)	 Show the students a well-prepared PowerPoint 

presentation on photo-synthesis.
(2)	 Explain in detail the process of photosynthesis 

and the chemical reactions involved.
(3)	 Provide the students with a money plant in 

water and ask them to observe its growth and 
make an inference.

(4)	 Provide the students with an interesting reading 
material on the process of food manufacture in 
plants.

90.	 The criterion of process validity of science curriculum 
requires that:
(1)	 science should be taught as a specialized 

discipline with its unique characteristics.
(2)	 science should be presented as a value-free 

discipline uninfluenced by societal concerns.
(3)	 learners should be familiarized with various 

natural processes.
(4)	 learners should be engaged in processes that 

lead to generation of scientific knowledge.

Language: English
Directions: Answer the following questions (Q. Nos. 91 to 
105) by selecting the correct/most appropriate options.
91.	 Language is a tool because:

(1)	 it is used for communication
(2)	 it is used for processing ideas
(3)	 it is used for thinking
(4)	 it is used for conveying ideas

92.	 Children can best learn a language when they have:
(1)	 a proficient language teacher
(2)	 inhibition
(3)	 motivation
(4)	 a good textbook

93.	 TBLT in second language teaching is:
(1)	 Task Book Language Teaching
(2)	 Tool-Based Language Teaching
(3)	 Task-Based Language Teaching
(4)	 Task-Based Language Training

94.	 The second language should be taught through:
(1)	 using the target language as much as it is possible
(2)	 mother tongue and translation
(3)	 learners background and talent
(4)	 grammar and rules of language

95.	 There are 44 sounds in English. Out of these, 
how many sounds are vowels and how many are 
consonants respectively?
(1)	 5, 39	 (2)	 22, 22
(3)	 10, 34	 (4)	 20, 24

96.	 A speech community refers to a community which:
(1)	 speaks different dialects
(2)	 uses different languages
(3)	 speaks the same language
(4)	 connects by virtue of a link language

97.	 Pedagogical grammar is:
(1)	 learning of meanings through form
(2)	 learning of rules first and then the meanings of 

words
(3)	 learning of grammar in context through use
(4)	 learning of grammar through prose and poetry

98.	 When learners have diverse linguistic backgrounds, 
the teacher should:
(1)	 form groups in accordance with their linguistic 

backgrounds
(2)	 ascertain their learning styles
(3)	 use multilingual approach
(4)	 start the class with brainstorming sessions

99.	 Which of the following ways is not appropriate for 
teaching a reading text?
(1)	 Teacher reads out and explains the text line-by-

line.
(2)	 Learners are made into groups and asked to read 

by taking turns.
(3)	 Learners read individually and discuss with their 

friends the ideas of the text.
(4)	 Learners divide the text into small chunks and 

read.
100.	Post-reading tasks are meant for:

(1)	 assessing the learning and connecting it to real-
life situations

(2)	 giving the meaning of difficult words
(3)	 introducing the main idea of the text
(4)	 explaining the grammatical rules in the text

101.	Intensive reading is aimed at helping the learners 
read a text for:
(1)	 improving study skills
(2)	 accuracy
(3)	 pleasure only
(4)	 information

102.	Process writing approach could be described as:
(1)	 horizontal approach	 (2)	 bottom-up approach
(3)	 top-down approach	 (4)	 vertical approach

103.	Abeera, an English teacher, describes a scene and 
asks the learners to draw what they have heard. This 
is a:
(1)	 picture story	 (2)	 mutual dictation
(3)	 picture dictation	 (4)	 picture composition

104.	While teaching a ‘One-Act Play‘, a tableau can be 
used as one of the teaching strategies. The tableau 
refers to:
(1)	 a monologue
(2)	 silent still image made by actors posing as 

characters
(3)	 some musical instrument
(4)	 dialogues between different actors

105.	A teacher divides her class into pairs to exchange 
their notebooks and make corrections as per the 
direction of the teacher. What does she do?
(1)	 Group assessment	 (2)	 Correction
(3)	 Assessment	 (4)	 Peer assessment
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Directions: Answer the following questions (Q. Nos. 106 to 
114) by selecting the correct/most appropriate options.
	 What we call Old Delhi is actually only about 350 

years old, which is not terribly ancient, considering 
that the city was inhabited around 1000 to 800 BC. 
But it is a good place to look because Old Delhi has 
retained its character from the Mughal days. Most 
of what we call Old Delhi was built by the emperor 
Shah Jahan who, with characteristic modesty, called 
it Shahjahanabad. The city was built around 1640-
1650 AD (so, by Delhi standards, it is actually young!) 
and remained the capital of the Mughal empire ever 
since.

	 India was one of the world's richest countries in that 
age, so the capital's commercial quarter was one of 
the most important trading and business centres 
in the East. The original Chandni Chowk was 
built around a canal of the Yamuna, which passed 
down the street, forming a pool that reflected the 
moonlight and gave the area its name.

	 The business of Chandni Chowk was business only. 
Some people say that it was the ruthless reprisals 
from the British after the 1857 Mutiny/War of 
Independence that destroyed the peaceful character 
of Chandni Chowk; as did the looting that was 
the hallmark of the East India Company's soldiers. 
Others say that the rot set in after New Delhi was 
created in the 20th century.

	 Either way, Chandni Chowk is a mess now. It is 
overcrowded, parts of it are dirty and its wonderful 
historical mansions are now in disrepair. In an 
era when the world's great squares have become 
landmarks, why should Chandni Chowk become a 
slum?

106.	Study the following statements:
A.	 A canal used to run through Chandni Chowk.
B.	 Business and trading was done on the banks of 

the canal.
C.	 People visited Chandni Chowk to view the 

moonlight reflected in the canal.
	 Which of the above statements are true?

(1)	 A, B and C	 (2)	 A and B
(3)	 B and C	 (4)	 A and C

107.	Shah Jahan named to the new city of Delhi, 
Shahjahanabad. It shows his:
(1)	 love of art	 (2)	 pride
(3)	 modesty	 (4)	 character

108.	By Delhi standards, Old Delhi is called young 
because:
(1)	 it was built around 1640-1650 AD
(2)	 it was an active business centre
(3)	 it was visited by young tourists
(4)	 it was inhabited around 1000-800 BC

109.	During the Mughal period, Delhi was very 
prosperous because:
(1)	 it was built by Shah Jahan
(2)	 it was looted by East India Company’s soldiers
(3)	 a lot of trade and commerce took place here
(4)	 it was ruled by the rich Mughals

110.	East India Company’s soldiers were:
(1)	 greedy but not cruel	 (2)	 noble and brave
(3)	 cruel and greedy	 (4)	 cruel but not greedy

111.	“_________ a pool that reflected the moonlight 
__________“

	 Which part of speech is the underlined word?
(1)	 An interjection	 (2)	 A pronoun
(3)	 An adjective	 (4)	 A determiner

112.	“__________ terribly ancient, considering that 
__________“

	 The underlined word is a/an:
(1)	  adverb	 (2)	 noun
(3)	 participle	 (4)	 verb

113.	“Either way, Chandni Chowk is a mess now.“
	 The word ‘mess‘ means the same as:

(1)	 upset	 (2)	 canteen
(3)	 snare	 (4)	 confusion

114.	“_________ a pool that reflected the moonlight 
__________“

	 The word opposite in meaning to ‘reflected‘ is:
(1)	 discredited	 (2)	 imitated
(3)	 claimed	 (4)	 absorbed

Directions: Answer the following questions (Q. Nos. 115 to 
120) by selecting the correct/most appropriate options.

I love the Brooks which down their channels fret,
Even more than when I tripped lightly as they;
The innocent brightness of a new-born Day �

� Is lovely yet;
The Clouds that gather round the setting sun
Do take a sober colouring from an eye
That hath kept watch o'er man's mortality;
Another race hath been, and other palms are won.
Thanks to the human heart by which we live,
Thanks to its tenderness, its joys, and fears,
To me the meanest flower that blows can give
Thoughts that do often lie too deep for tears.

115.	The poet loves the brooks:
(1)	 because he too can run briskly like them
(2)	 because they flow between their banks
(3)	 now more than when he was young
(4)	 as they are overflowing their banks

116.	The clouds around the setting sun make the poet:
(1)	 sad	 (2)	 thought
(3)	 happy	 (4)	 curious

117.	During his lifetime, the poet has thought about:
(1)	 love in human heart
(2)	 the rat race of man
(3)	 the dawn of the new day
(4)	 mortal natural of man

118.	Today the poet is thankful for:
A.	 the human heart which is full of joys and sorrows
B.	 the beauty of the meanest flower
C.	 the palms won by him in the race of life

	 Which of the above are true?
(1)	 A, B and C	 (2)	 A and B
(3)	 B and C	 (4)	 A and C

119.	The figure of speech used in line 1 is:
(1)	 irony	 (2)	 a simile
(3)	 a metaphor	 (4)	 personification

120.	“The innocent brightness ____________“ is an 
example of:
(1)	 irony	 (2)	 metonymy
(3)	 synecdoche	 (4)	 transferred epithet
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Language: Hindi

funsZ'k (121-135): uhps fn, x, ç'uksa ds lgh@lcls mfpr mÙkj okys 
fodYi dks pqfu,µ

121.	ljljh rkSj ij fdlh ikB dks ns[kdj mldh fo"k;oLrq dk irk 
dj ysukµ
(1)	 i<+us dh dq'kyrk dk vafre iM+ko gSA
(2)	 i<+us dh fuEu fLFkfr dks n'kkZrk gSA
(3)	 i<+us dh ,d egRoiw.kZ dq'kyrk gSA
(4)	 i<+dj le>us dk igyk ç;kl gSA

122.	cPpksa ds cksyuk lh[kus ds lanHkZ esa dkSu&lk dFku lgh gS\
(1)	 viuh Hkk"kk ls brj Hkk"kkvksa dks lquus ds fy, euk djuk 

pkfg,A
(2)	 lHkh cPpksa dh cksyuk ,oa lquuk lh[kus dh xfr leku gksrh gSA
(3)	 cPpksa dks çkjEHk ls gh 'kq¼ mPpkj.k ds çfr lpsr jguk 

pkfg,A
(4)	 cPpksa dks lquus vkSj cksyus ds vfèkd&ls&vfèkd volj nsus 

pkfg,A

123.	HkkstiqjhHkk"kh eksuk ^'k* dks ^l* vkSj ^j* dks ^M+* cksyrh gSA bldk 
lokZfèkd laHkkfor dkj.k gSµ
(1)	 mPpkj.kxr =qfV	 (2)	 ekr`Hkk"kk ls çse
(3)	 fgUnh Hkk"kk dh dfBurk	 (4)	 ekr`Hkk"kk dk O;k?kkr

124.	d{kk III dh f'kf{kdk vius fo|kfFkZ;ksa dks ikB~;&iqLrd ls brj 
fHkUu&fHkUu çdkj ds cky&lkfgR; i<+us ds fy, çksRlkfgr djrh 
gS] D;ksafd og pkgrh gS fd cPpsµ
(1)	 rjg&rjg dh foèkkvksa ls ifjfpr gks ldsa
(2)	 fofHkUu cky&lkfgR;dkjksa ds uke tku ldsa
(3)	 viuh iBu&{kerk c<+k ldsa
(4)	 cky&lkfgR; ds çdk'kdksa ds ckjs esa tku ldsa

125.	mPp çkFkfed Lrj ij O;kdjf.kd i{kksa] 'kCnksa dh ckjhfd;ksa] ds 
vkdyu ds lanHkZ esa lcls vfèkd egRoiw.kZ gSµ
(1)	 'kCndks"kh; 'kCn&lEink dk Kku
(2)	 ifjHkk"kkvksa dks tkuuk
(3)	 lanHkZ esa O;kdj.k le>uk
(4)	 ikB~;&iqLrdh; O;kdj.k ds fu;e tkuuk

126.	vkius vius fo|kfFkZ;ksa dks ,d ç'u fn;k gSµß?kj ls fo|ky; 
vkus rd vki jkLrs esa tks&tks phtsa ns[krs gSa] mUgsa fy[ksaAÞ vkidh 
d{kk esa ,d fo|kFkhZ n`f"V&ckfèkr gSA vkiµ
(1)	 Lo;a ç'u dk mÙkj fy[kdj nsaxhA
(2)	 mls bl ç'u dk mÙkj fy[kus ds fy, euk djsaxhA
(3)	 mls dgsaxh fd vius lgikBh ls iwNdj fy[k yksA
(4)	 ç'u esa ml cPps dh vko';drk ds vuqlkj ifjorZu djsaxhA

127.	mPp çkFkfed Lrj ij cPpksa dh Hkk"kkbZ {kerkvksa dk vkdyu 
djus ds fy, lokZfèkd mi;ksxh gSµ
(1)	 ikB ds O;kdj.k dh tk¡p&ij[k djukA
(2)	 ikBkar ç'uksa ds mÙkj fy[kokukA
(3)	 ikB dh fo"k;oLrq dks fy[kokukA
(4)	 ikB esa vkbZ dgkuh dks vkxs c<+okukA

128.	ßcPps vius pkjksa vksj fyf[kr lkexzh dk ftruk mi;ksx gksrs 
ns[ksaxs mruh gh fyf[kr Hkk"kk ds çfr mudh le> lgt :i ls 
curh tk,xhAÞ mi;qZDr dFku dk fufgrkFkZ gSµ
(1)	 cPpksa dks vius bnZ&fxnZ foKkiu] gksfM±Zl] dSysaMj] 

cky&lkfgR;] lwfp;k¡ vkfn ns[kus&i<+us ds volj feyrs jgus 
pkfg,A

(2)	 cPpksa dh ikB~;&iqLrdksa esa cgqr&ls ikB gksus pkfg,A
(3)	 cPpksa dks x`gdk;Z esa ys[ku&lacaèkh dk;Z gh nsuk pkfg,A
(4)	 cPpksa dks ';keiê ij fy[ks gq, rF; viuh dkWih esa fy[kus 

ds vfèkdkfèkd volj nsus pkfg,A

129.	^Hkk"kk vtZu* ds ckjs esa dkSu&lk dFku lgh gS\
(1)	 ;g ifjokj esa gh gksrk gSA	 (2)	 ;g lgt gksrk gSA
(3)	 ;g dfBu gksrk gSA	 (4)	 ;g fo|ky; esa gh gksrk gSA

130.	fuEufyf[kr esa ls fdl fLFkfr esa vki dgsaxs fd ^iBu* gks jgk gS\
(1)	 mfpr xfr ,oa çokg	
(2)	 vuqeku ds lkFk Hkko xzg.k
(3)	 çR;sd 'kCn dk lgh mPpkj.k	
(4)	 èofu dk mrkj&p<+ko

131.	mPp ekè;fed Lrj ij fgUnh Hkk"kk dh ikB~;&iqLrd esa fgUnhrj 
Hkk"kkvksa dh jpukvksa dks Hkh LFkku nsus dk eq[; mís'; gSµ
(1)	 vU; Hkk"kkvksa ds mRÏ"V lkfgR; ls ifjfpr djkukA
(2)	 vU; Hkk"kkvksa ds O;kdj.k ls ifjfpr djkukA
(3)	 vU; Hkk"kkvksa ds jpukdkjksa ls ifjfpr djkukA
(4)	 vU; Hkk"kkvksa ds lkFk rqyuk djukA

132.	cPpksa dh l'kDr ys[ku {kerk dk ifjpk;d gSµ
(1)	 vkyadkfjd Hkk"kk	 (2)	 lqanj fy[kkoV
(3)	 l'kDr okD;&foU;kl	 (4)	 ekSfyd fopkj

133.	eqgkojs vkSj yksdksfDr;k¡ lh[kus&fl[kkus dk ,d egRoiw.kZ mís'; 
gSµ
(1)	 eqgkojs ,oa yksdksfDr;ksa dk fuekZ.k djukA
(2)	 eqgkojs ,oa yksdksfDr;ksa dk lqfpafrr ç;ksx djukA
(3)	 eqgkojs ,oa yksdksfD;ksa dk vFkZ crkukA
(4)	 dks'k ls eqgkojk ,oa yksdksfDr dk vFkZ ns[kukA

134.	fuEufyf[kr esa ls fdl çdkj ds ç'u cPpksa dh Hkk"kkxr 
jpukRedrk dk vkdyu djus esa lokZfèkd :i ls mi;qDr gksaxs\
(1)	 cgqfodYih; ç'u
(2)	 eqDr var okys ç'u
(3)	 ,d 'kCn esa mÙkj okys ç'u
(4)	 ^lgh dFku ij fu'kku yxkvks* okys ç'u

135.	riL;k lkroha d{kk esa fofHkUu lanHkks± esa ^i`Foh*] ^olqèkk* vkSj 
^Hkwfe* 'kCnksa ds ç;ksxksa dh rjQ cPpksa dk è;ku vkdf"kZr djrh 
gSA ,slk djus esa mldk mís'; gSµ
(1)	 Hkk"kk dk O;kdjf.kd Kku nsukA
(2)	 'kCn&Hk.Mkj dk fodkl djkukA
(3)	 fgUnh dh ckjhfd;k¡ le>kukA
(4)	 i;kZ;okph 'kCnksa dh ifjHkk"kk nsukA

funsZ'k (136-144): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mfpr mÙkj okys fodYi dks pqfu,µ

mÙkj Hkkjr ds lar dfo dchj vkSj nf{k.k Hkkjr ds lar dfo fr#oYyqoj 
ds le; esa yxHkx nks gtkj o"kZ dk varjky gS fdUrq bu nksuksa egkdfo;ksa 
ds thou esa vn~Hkqr lkE; ik;k tkrk gSA nksuksa ds ekrk&firk us tUe 
nsdj bUgsa R;kx fn;k Fkk] nksuksa dk ykyu&ikyu fuLlarku nEifr;ksa us 
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cM+s Lusg vkSj tru ls fd;k FkkA O;olk; ls nksuksa tqykgs FksA nksuksa us 
lkfRod x`gLFk thou dh lkèku dh FkhA
fr#oYyqoj dk çkekf.kd thou&o`Ùkkar çkIr ugha gksrkA çk;% mUgsa pSUubZ 
ds fudV ebykiqj xk¡o dk tqykgk ekuk tkrk gS fdUrq dqN yksxksa ds 
vuqlkj os jktk ,Yyky ds 'kklu esa ,d cM+s inkfèkdkjh Fks vkSj mUgsa 
oSlk gh lEeku çkIr Fkk tSlk paæxqIr ds 'kkludky esa pk.kD; dksA muds 
ckjs esa vusd nardFkk,¡ çpfyr gSaA tSls dgk tkrk gS fd ,d laU;klh 
ukjh tkfr ls ?k`.kk djrk FkkA mldk fo'okl Fkk fd fL=;k¡ cqjkbZ dh tM+ 
gSa vkSj muds lkFk bZ'oj&HkfDr gks gh ugha ldrhA fr#oYyqoj us cM+s 
vknj ls mls vius ?kj cqyk;kA nks fnu muds ifjokj esa jgdj laU;klh 
ds fopkj gh cny x,A mlus dgk] ß;fn fr#oYyqoj vkSj mudh iRuh 
tSlh tksM+h gks rks x`gLFk thou gh Js"B gSAÞ
dchj ds nksgksa dh Hkk¡fr fr#oYyqoj us Hkh NksVs Nan esa dfork jph ftls 
^dqjy* dgk tkrk gSA dqjyksa dk laxzg ^fr#oYyqoj* mudk ,dek= 
xazFk gSA fr#Ddqjy dks rfey Hkk"kk dk osn ekuk tkrk gSA bldk çR;sd 
dqjy ,d lwfDr gS vkSj ;s lwfDr;k¡ lHkh èkeks± dk lkj gSaA lEiw.kZ 
ekuotkfr dks 'kqHk ds fy, çsfjr djuk gh bldk mís'; çrhr gksrk gSA 
tSls èkeZ ds ckjs esa nks dqjyksa dk vk'k; gSµ
Hkæ iq#"kks! ifo= ekuo gksuk gh èkeZ gSA LoPN eu okys cuks vkSj ns[kks 
rqe mUufr ds f'k[kj ij dgk¡&ls&dgk¡ igq¡p tkrs gksA
>wB u cksyus ds xq.k dks xzg.k djks rks fdlh vU; èkeZ dh vko';drk 
gh u jgsxhA
136.	;fn dchj dk le; iaægoha 'krkCnh bZloh gS rks fr#oYyqoj dk 

le; gksxkµ
(1)	 yxHkx igyh lnh bZloh	 (2)	 yxHkx 1500 o"kZ bZ-iw-
(3)	 yxHkx 1000 o"kZ bZ-iw-	 (4)	 yxHkx 500 o"kZ bZ-iw-

137.	fr#oYyqoj ds vuqlkj Js"B èkeZ gSµ
(1)	 fdlh vU; èkeZ dh vko';drk u jgukA
(2)	 bZ'oj esa vkLFkk gksukA
(3)	 eu ls ifo= gksukA
(4)	 eafnjksa esa tkukA

138.	^rfey* fdl ns'k&çns'k dh Hkk"kk gS\
(1)	 dukZVd	 (2)	 Jhyadk
(3)	 rfeyukMq	 (4)	 dsjy

139.	tks lacaèk paæxqIr dk pk.kD; ls Fkk ogh laacaèkµ
(1)	 fr#oYyqoj dk ,Yyky ls FkkA
(2)	 pk.kD; dk paæxqIr ls FkkA
(3)	 paæxqIr dk ,Yyky ls FkkA
(4)	 ,Yyky dk fr#oYyqoj ls FkkA

140.	fr#oYyqoj vkSj dchj esa lkE; ds fcUnq gSaµ
	 (d) tUe ds ckn ekrk&firk ds }kjk R;kx nsukA
	 ([k) ,d&ls Nan esa dfork djukA
	 (x) tqykgs dk O;olk; djukA
	 (?k) ukjh tkfr ls ?k`.kk djukA
	 lgh fodYi dks pqfu,A

(1)	 (d) rFkk ([k)	 (2)	 (d)] ([k) rFkk (x)
(3)	 (d)] ([k) rFkk (?k)	 (4)	 ([k) rFkk (x)

141.	ukjh tkfr ls ?k`.kk djus okys laU;klh ds fopkj fr#oYyqoj us 
dSls cnys\
(1)	 mldk Lokxr&lRdkj djds

(2)	 lqanj mins'k nsdj
(3)	 viuh jpuk,¡ lqukdj
(4)	 viuh x`gLFkh dk lk{kh cukdj

142.	^bZ'oj&HkfDr* 'kCn dk foxzg vkSj lekl gksxkµ
(1)	 bZ'oj dh HkfDr djrk gks tksµcgqozhfg
(2)	 bZ'oj vkSj HkfDrµ}a}
(3)	 bZ'oj dh HkfDrµrRiq#"k
(4)	 bZ'oj :ih HkfDrµdeZèkkj;

143.	fdlh èkeZ dh vko';drk dc ugha jg tkrh\
(1)	 bZ'oj dh 'kj.k ek¡x ysus ij
(2)	 ukfLrd gks tkus ij
(3)	 èkeZ ij fo'okl u gksus ij
(4)	 >wB dks R;kx nsus ij

144.	^Lusg* vkSj ^tru* 'kCn Øe'k% gSaµ
(1)	 vkxr vkSj rn~Hko	 (2)	 rRle vkSj rn~Hko
(3)	 rn~Hko vkSj ns'kt	 (4)	 ns'kt vkSj vkxr

funsZ'k (145-150): uhps fn, x, i|ka'k dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mfpr mÙkj okys fodYi dks pqfu,µ

ek¡ rqEgkjk ½.k cgqr gS eSa vfdapu
fdUrq fQj Hkh dj jgk bruk fuosnu
Fkky esa ykÅ¡ ltkdj Hkky tc Hkh
dj n;k Lohdkj ysuk og leiZ.kA
ek¡ eq>s cfynku dk ojnku ns nksA
rksM+rk gw¡ eksg dk caèku {kek nks
vkt lhèks gkFk esa ryokj ns nks
vkSj ck,¡ gkFk esa èot dks Fkek nksA
lqeu vfiZr peu vfiZr
uhM+ dk d.k&d.k lefiZr
pkgrk gw¡] ns'k dh èkjrh] rq>s dqN vkSj Hkh nw¡A
145.	^ek¡* lacksèku fdlds fy, gS\

(1)	 nsoh nqxkZ ds fy,	 (2)	 tuuh ds fy,
(3)	 i`Foh ds fy,	 (4)	 ekr`Hkwfe ds fy,

146.	dfo fuosnu dj jgk gSµ
(1)	 ml ij n;k dh tk,	
(2)	 mls ½.k pqdkus dk volj feys
(3)	 og ewY;oku Fkky esa ekFkk ltkdj yk,
(4)	 mlds thounku dks Lohdkj fd;k tk,

147.	^uhM+ dk d.k&d.k lefiZr* dFku esa ^uhM+* dk vk'k; gSµ
(1)	 egy	 (2)	 fruds
(3)	 ?kj&ifjokj	 (4)	 >ksaiM+h

148.	ßpkgrk gw¡] ns'k dh èkjrh] rq>s dqN vkSj Hkh nw¡Þµ 
	 dFku esa ^dqN vkSj* ls rkRi;Z gS fd dqN ,slk fn;k tk tksµ

(1)	 Fkky esa nh tkus okyh HksaV ls vPNk gks
(2)	 ½.k pqdkus ls c<+dj gks
(3)	 cfynku ls Hkh c<+dj gks
(4)	 C;kt pqdkus ls csgrj gks

149.	^vfdapu* dk vFkZ gSµ
(1)	 vfr fuèkZu	 (2)	 ½.kh
(3)	 cslgkjk	 (4)	 ijenq[kh

150.	^cfynku* 'kCn ls cuk fo'ks"k.k gSµ
(1)	 cfynkuh	 (2)	 çcy nkuh
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(3)	 cyoku	 (4)	 vkRecfy
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1.	 Option (3) is correct.
Explanation: Two students read 
the same passage yet construct 
entirely different interpretations of 
its meaning. It is possible because 
different factors affect the learning of 
individuals in varied ways. Different 
factors affect the learning ability 
level of each child. Thus, different 
learning abilities will impact the 
understanding level of the same 
concept in each child.

2.	 Option (1) is correct.
Explanation: According to the 
National Curriculum Framework, 
2005, learning is active and social in 
its character as a passive and non-
social curriculum will not encourage 
the overall development of a child. 
Thus, for the overall development 
of a child, he/she should be actively 
and socially engaged in the teaching-
learning process so that, their learning 
experiences can be maximized.

3.	 Option (2) is correct.
Explanation: To enable students to 
think independently and become 
effective learners, a teacher needs to 
teach students how to monitor their 
learning process. A teacher should 
encourage his/her students to think 
critically and make decisions about 
what they can learn from their own 
experiences while facing or going 
through different situations.

4.	 Option (4) is correct.
Explanation: An individual possesses 
problem-solving skills when he/she 
can solve problems effectively and 
efficiently. If a teacher wants her 
students to acquire problem-solving 
skills, then she/he should engage his/
her students in various activities that 
involve inquiring, reasoning, finding 
the best solution to the problem, and 
finally making a decision out of the 
alternative.

5.	 Option (3) is correct.
Explanation: Knowing the naïve 
conception that students bring to the 
classroom helps the teacher to plan 
to teach more meaningfully. When 
students bring naïve conception 
into the classroom, a teacher should 
smartly and meaningfully address 
students’ query so that no doubt 
remains in the students’ mind.

6.	 Option (1) is correct.
Explanation: Learning is the acquisi-
tion of skills or knowledge through 
study or experiences. It represents 
new or modified behavior in an 
individual. The main factors affecting 
the learning are as follows:
n	Motivation of the learner
n	Maturation of the learner
n	Teaching strategies
n	Physical and emotional health of 

the learner
n	Interest of student

7.	 Option (4) is correct.
Explanation: Meaningful learning 
is the active creation of knowledge 
structures from personal experiences. 
Such a type of learning happens when 
we interact with others who possess 
different ideas and interpretations 
of our personal experiences leading 
to the active creation of knowledge 
structures. In addition to this, solving 
problems and regulating one’s 
behavior contribute to meaningful 
learning.

8.	 Option (1) is correct.
Explanation: For effective student 
learning transmitting information 
to the students in a didactic manner 
is not a primary task of a teacher. A 
teacher should ensure that students 
are motivated, and he/she should 
know how concepts are introduced 
in the class so that maximum learning 
can be encouraged among students.

9.	 Option (4) is correct.
Explanation: Development involves 
biological, emotional, and psycholo-
gical changes in an individual. 
Development explains the changes 
that occur in a child over a period. 
Development is both a qualitative 
and quantitative process that can be 
measured precisely.

10.	 Option (2) is correct.
Explanation: In the process of 
development, heredity, and environ-
ment plays an important role. 
Heredity is influenced by physical 
appearances such as height, weight, 
the color of the eye, complexion, 
aptitude, and intelligence, whereas 
the environment is influenced 
by external factors that impact 
an individual's development and 
learning experience. Thus, we can 
say that the unique interaction of 
heredity and environment can result 
in different paths and outcomes of 
development.

11.	 Option (1) is correct.
Explanation: There are two type of 
socialization:
-Primary Agents of Socialization 
(considered only family)
-Secondary Agents of Socialization 
(this usually considered school, 
neighbourhood, media, peer group, 
laws of society etc.) A school is 
regarded as an important secondary 
agent of socialization as children not 
only acquire subject knowledge but 
also learn life skills and social skills. : 
In school, children learn social rules, 
cultural norms, and values that are 
transmitted to them through various 
activities and functions and learn to 
interact with others. School helps 
to mold children in such a way 
that they share a national identity 
as a whole and prepares children 
for their citizenship roles in society. 
Thus, school is an important agent of 
socialization.

12.	 Option (3) is correct.
Explanation: Jean Piaget, a Swiss 
biologist, and Psychologist a four-
stage Theory of Cognitive Develop-
ment, states that every child thinks 
differently at different periods in 
their life. He believed every child 
passes through these four stages (viz. 
Sensorimotor Stage, Pre-operational 
Stage, Concrete Operational Stage, 
and Formal Operational stage) 
through an invariant sequence 
which means that no stage can be 
skipped or reordered.

13.	 Option (2) is correct.
Explanation: Jean Piaget, a Swiss 
biologist, and Psychologist developed 
a four-stage model showing how the 
mind processes new information. 
The concept of ‘conservation’ comes 
under the third stage of develop-
ment, called the concrete operational 
stage (7 to 11 years). At this stage, 
he believed that certain physical 
properties remain the same even 
when outward physical appearances 
changes.

14.	 Option (3) is correct.
Explanation: An American Psycho-
logist, Howard Gardner’s theory 
propounded the theory of Multiple 
Intelligence. Gardner’s theory 
includes eight kinds of intelligence 
which are as follows:
n	Linguistic: the ability to use 

linguistic abilities effectively to 
express oneself with the most 
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appropriate words (for example 
Poet, writer, speaker, lawyer, etc.)

n	Logical-Mathematical: the ability	
to analyze problems critically and 
able to perform mathematical ope-
rations and investigate problems 
scientifically (for example physi-
cists, mathematicians, scientists, 
etc.)

n	Spatial: the ability to recognize 
and manipulate visual images 
(for example artists, designers, 
sculptors, etc.)

n	Musical: the ability to have music 
knowledge and are an expert 
in composing it (for example 
Violinist, guitarist, singer, etc.)

n	Bodily-Kinesthetic: using mental 
abilities to coordinate with one’s 
body movement (for example 
athletes, dancers, actors, etc.)

n	Interpersonal: the ability to 
understand the other intentions, 
behavior, feelings, and desires of 
people (for example teacher, social 
workers, managers, etc.)

n	Intrapersonal: the ability to 
understand self, and appreciate 
one’s feelings, emotions, needs, 
motives fears and, motivation (for 
example Therapist, philosophers, 
psychologists)

n	Naturalistic: nature, nurturing 
and relating information to 
one’s natural surroundings (For 
example farmers, gardeners, 
naturalists, etc.)

15.	 Option (2) is correct.
Explanation: An individual uses social 
interactions and communication 
abilities (such as speaking and 
writing) to give a definite shape to 
thoughts and enables the emergence 
of imagination, planning, and 
memory usage in a specified or 
specific manner. Thus, we can say that 
a Russian Psychologist, Lev Vygotsky 
believed language development 
changes the nature of the human 
thought process.

16.	 Option (4) is correct.
Explanation: Lawrence Kohlberg 
proposed ‘Stages of Moral Develop-
ment’ by extending the ideas of Jean 
Piaget’s theory. Kohlberg theory 
includes three levels and six stages, 
which are as follows:
n	Pre-conventional level

l	Stage 1 – Punishment-obedie-
nce orientation

l	Stage 2 – Instrumental-excha-
nge orientation

n	Conventional Level
l	Stage 3 – Good-boy-nice-girl 

orientation
l	Stage 4 – Law and order orien-

tation
n	Post conventional Level

l	Stage 5 – Social contract situa-
tion

l	Stage 6 – Universal – ethical-
principles orientation

The Theory of Moral reasoning 
by Lawrence Kohlberg has been 
criticized because his study was 
primarily based on a male sample. 
He believed women can’t go beyond 
Stage 4 of his Moral Development 
theory as they lack moral reasoning 
abilities in them.

17.	 Option (1) is correct.
Explanation: Assessment of learning 
is an approach that assesses a child’s 
understanding level which will help 
them to improve their performance. 
Assessment helps the teacher to 
assess the conceptual understanding 
of the students besides focusing on 
the processes of thinking that will 
help them to know their strengths 
and gaps areas in learning.

18.	 Option (2) is correct.
Explanation: Child-centered peda-
gogy means education is provided 
according to the needs of the learner. 
The teacher uses various teaching-
learning materials to make class-
room teaching interesting. Equal 
opportunity for every child to learn 
individually or in a group is provided 
irrespective of diversity in the 
classroom. Thus, we can say, child-
centered pedagogy means giving 
primacy to children’s experiences 
and their voices.

19.	 Option (2) is correct.
Explanation:
n	Jean Piaget believed that thought 

emerges before language. This is 
so because language depends on 
the thought process for its form-
ation/ development.

n	Lev Vygotsky believed a language 
has a profound effect on thought. 
This is so because an individual 
uses social interactions and com-
munication abilities (such as 
speaking and writing) to form 
thoughts regarding things.

20.	 Option (2) is correct.
Explanation: Gender stereotypes 
are preconceived and generalized 
notions about specific gender char-
acteristics, behaviour, and traits. 
The statement mentioned above, 
watching her granddaughter arguing 
with her father for going on a school 
trip, the grandfather says, “Why can’t 
you be obedient like good girl? Who 
will marry you if you behave like 
a boy”, affects Gender stereotypes 
(Gender stereotyping refers to the 
practice of ascribing to an individual 
woman or man specific attributes, 
characteristics, or roles by reason 
only of her or his membership in 
the social group of women or men.) 
Gender Stereotypes about attributes 
of girls and boys.

21.	 Option (4) is correct.
Explanation: Assessment of learning 
is an approach that assesses a child’s 
understanding level which will help 
them to improve their performance. 
Assessment helps students to know 
their strengths and gaps and helps 
the teacher change his/her teaching 
style or methodology accordingly. 
Moreover, assessment should not 
only focus on assessing the memory 
level of a child but also helps to know 
how much the teaching-learning 
style is effective in understanding 
and application.

22.	 Option (3) is correct.
Explanation: According to the Right 
to Education Act, 2009, children 
with special needs should study 
in inclusive education setups that 
have a provision to cater to all 
individual specific needs (physical, 
social, emotional, linguistic, etc.) and 
requirements. In such setup schools, 
teaching methods and techniques 
are framed in such a manner that it 
meets the requirements of every child 
enrolled in such setup and teaching 
methodology is adopted in such a 
manner that it helps to maximize each 
child’s potential.

23.	 Option (2) is correct.
Explanation: In a school, students 
come from diverse backgrounds so, 
it is the duty of a teacher to address 
diversity in his/her classroom by 
accepting and valuing the diversity 
of background of every student. 
Moreover, a teacher should focus on 
their cultural background (values, 
beliefs, and history of other cultures) 
to address individual differences 
among the group.

24.	 Option (4) is correct.
Explanation:
n	Proximodistal Trend: Proximo-

distal Trend is described as the 
development of a child starting 
from the center of the body and 
moving towards the outward 
parts of the body. For example
l	The spinal cord of the infant 

develops before the outer body 
parts of him/her.

l	The infant’s arms develop 
before the hands.

l	Hands and feet develop before 
the finger and toes, etc.

n	Cephalocaudal Trend: Cephalo-
caudal Trend is described as the 
development of a child starting 
from head to toe. Firstly, a child 
can control his/her head and then 
he/she reaches other parts of the 
body farther from the head.

n	Interindividual Differences: 
Different children develop at 
different rates. In other words, 
differences between the children 
can be observed in behavior, 
characteristics, and one or more 
traits.
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n	Intraindividual Differences: In a 

single child, the rate of develop-
ment can vary from one domain 
of development to the other. In 
simple words, differences are 
observed in a child at different 
times or in different circumstances.

25.	 Option (1) is correct.
Explanation:
n	Cognition is a process of acquiring 

knowledge through experiences 
whereas.

n	Emotion is the mental state of 
an individual associated with 
feelings (fear, anger, love, etc).

Cognition and emotions are intertwi-
ned and affect each other in many 
ways, like emotions can affect the 
cognition process (attention, deci-
sion-making ability, and memory) 
of an individual and on the other 
hand, cognition can impact indivi-
dual emotional experiences and 
expression.

26.	 Option (3) is correct.
Explanation:
n	Cooperative Learning is an 

approach to learning where 
students are encouraged to work 
together in groups to maximize 
their learning experiences and 
finally, achieve learning outcomes.

n	Whereas Peer-tutoring is an 
approach to learning where stu-
dents assist one another in under-
standing the concepts taught in 
class.

Thus, in an inclusive classroom 
with diverse learners, cooperative 
learning and peer-tutoring should be 
actively promoted to facilitate peer-
acceptance.

27.	 Option (4) is correct.
Explanation: In a school, students 
come from diverse socio-cultural 
backgrounds and economical back-
grounds, so, it is the duty of a 
teacher to address diversity in her 
classroom by accepting and valuing 
the differences of every individual. In 
addition to this, a teacher is expected 
to adopt students’ different socio-
cultural backgrounds as a pedagogic 
resource and accommodate different 
learning styles.

28.	 Option (1) is correct.
Explanation: Visually impairment is 
a condition when an individual is 
unable to see. When a teacher asks 
her class to cover sharp edges of 
furniture with cotton, she is doing so, 
so that such learners (visual-impaired 
learners) do not get hurt due to their 
visually impaired condition. And, 
when a teacher used Touch and 
Feel notice boards and books in her 
classroom, then she encouraged an 
inclusive classroom environment.

29.	 Option (3) is correct.
Explanation: Gifted children are 
those whose IQ score is 130 or more. 

They possess some exceptional 
abilities in one or more domains of 
knowledge. Gifted children can easily 
be engaged in various educational 
programmes and providing them 
opportunities to engage in divergent 
thinking activities will encourage 
strengthening their critical thinking 
abilities.

30.	 Option (3) is correct.
Explanation: When a student fails 
in school, it means that the school’s 
education system lacks effort. Teachers 
at a school are expected to teach the 
subject catering to the individual 
needs of all students. Moreover, 
Teaching should be meaningful and 
purposeful so students’ interest in the 
subject can be retained. By adopting 
these other ways, the student failure 
rate in a school can be reduced or 
stopped.

Mathematics & Science
31.	 Option (4) is correct

Explanation: Survey-based projects 
can be a wonderful way for maths 
teachers to encourage their pupils’ 
problem-solving abilities. Students 
get the chance to practice skills 
including data collecting, data 
analysis and data interpretation. 
They can use the information they 
gather to resolve issues in the real 
world and come to wise judgements.
Survey-based projects can give 
students the chance to gather real 
data in addition to fostering problem-
solving abilities. Students’ learning 
will become more interesting and 
engaging if they can see the use and 
relevance of mathematics in their 
daily lives.

32.	 Option (3) is correct
Explanation: In Mathematics, the 
undefined terms include plane, point 
and line. Despite being unclear these 
concepts are utilised to define other 
geometrical objects and concepts. A 
plane can be used to define a solid 
object like a cube or a sphere, whereas 
a line can be used to define a ray or 
a line segment.
A line segment which is drawn from 
one vertex to the opposite vertex of 
the quadrilateral is called diagonal 
of the quadrilateral. So,this term is 
defined.

33.	 Option (2) is correct
Explanation: In algebra except 
measurement, generalization, visual-
ization and transposition, are signi-
ficant algebraic concepts that help 
us to see relationships and patterns 
more thoroughly and solve problems 
more quickly.

34.	 Option (4) is correct
Explanation: In mathematics, the 
capacity to create questions rather 
than only solving them is referred 

as problem posing. Students must 
use their knowledge and grasp 
of mathematical concepts and 
principles differently when posing 
their own questions in mathematics 
rather than just solving those that 
have been given to them.

35.	 Option (1) is correct
Explanation: A good mathematics 
textbook should have plenty of open-
ended problems. The inclusion of 
exploring questions is crucial because 
it enables students to use their 
knowledge in real-world situations 
and to analyse and think critically 
about mathematical ideas.

36.	 Option (1) is correct
Explanation: A counterexample or 
logical contradiction is employed in 
the method of disproof to logically 
demonstrate that an assertion or 
theory is untrue. The technique is 
presuming a statement to be true 
and proving that this assumption 
results in a logical contradiction or 
a counterexample that reveals the 
statement to be false.
The given statement is that “every 
odd natural number is a prime 
number.” Natural numbers are 
counting numbers and they consist of 
all positive integers from 1 to infinity. 
9 is an odd number but it is not prime 
as 9 has a factor other than 1 and itself.
So, we can disprove the given 
statement.

37.	 Option (2) is correct
Explanation: Gender differences 
cannot be considered as a reason for 
Mathematics anxiety. Some students 
may be afraid of mathematics because 
of its high degree of rigidity, pressure 
to be correct, lack of understanding.

38.	 Option (4) is correct
Explanation: Let us find the LCM of 
6, 24, 4, 12, 8.
First, we write each number in terms 
of its prime factors:
		  6	 = 2 × 3
		  24	 = 2 × 2 × 2 × 3
		  4	 = 2 × 2
		  12	 = 2 × 2 × 3
		  8	 = 2 × 2 × 2
		  LCM	 = 2 × 2 × 2 × 3 
		  =	 8 × 3 = 24
Therefore, the LCM of 6, 24, 4, 12 and 
8 is 24.

Now, the equivalent fraction of 5 4
6 4

×
×

Option (1) 
 

5
6  

=
 

5 4
6 4

×
×  

=
20
24

Option (2) is −17
24

Option (3) � � �
�

�3
4

3 6
4 6

18
24

 =  = 

Option (4) � � �
�

�11
12

11 2
24 2

22
24

 =  = 
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	 Therefore, the fraction that does not 

lie between −20
24  

and 21
24  

is −22
24   

i.e. 

option (4).
39.	 Option (2) is correct

Explanation: Let us simplify the 
given expression.

		

3
8

4
5

2 3
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�
�
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�
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�
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8
3

5
4

2 3

			 
= 

64
9

125
64

�
�( )

			 
= 

125
9−

Now, the reciprocal of the given 

expression is –
 

9
125

40.	 Option (4) is correct
Explanation: Solving the given 
expression we get,
	 (132 – 52)3/2	 = 63 × A
⇒ 	(169 – 25)3/2	 = 63 × A
⇒ 	 (144)3/2	 = 63 × A
⇒ 	 (122)3/2	 = 63 × A
⇒ 	(2 × 2 × 3)3	= (2 × 3)3 × A

⇒ 	 A	 = 
( )

( )
2 2 3

2 3
2

3

3

3� �
�

�

41.	 Option (1) is correct
Explanation:

Given that, x y243 867 =  where x 

and y are co-prime numbers.
solving the expression we get,

		  x 243 	 =
  y 867

	

x
y

 = 
867
243	

x
y

 = 
867
243  

=
 

867
243

289
81

17
9

2

2= =

		

867
243

289
81

17
9

2

2= =

		  x	 = 17
		  y	 = 9
Now,	 x – y	 = 17 – 9 = 8

42.	 Option (1) is correct
Explanation: As, 547a is divisible by 3.
Divisibility test for 3—When the 
sum of all the digits in the number 
is divisible by 3, the number will be 
divisible by 3.
So, (5 + 4 + 7 + a) = (16 + a) is 
divisible by 3
Let us assume the value which will 
be added to 16 to get a number that 
is divisible by 3.
The numbers should be 18, 21, 24
 Now, finding possible values of a 
(1)	 When the number is 18
		  16 + a	 = 18
	 Or,	 a	 = 18 – 16
	 So,	 a	 = 2
(2)	 When the number is 21
		  16 + a	 = 21
	 Or,	 a	 = 21 – 16
	 So,       	a	 = 5

(3)	 When the number is 24
       	16 + a	= 24
	 Or,	 a	 = 24 – 16
	 So,	 a	 = 8
The possible values of a can be 2, 5, 8
The sum of all the possible values of 
a is 2 + 5 + 8 = 15

43.	 Option (3) is correct
Explanation: Factorising the three 
expressions we get,
	 (x4 – 256)	 = (x4 – 44)
			   = (x2)2 –(42)2

			   = (x2 –42)(x2 + 42)
		  = (x – 4)(x + 4)(x2 + 42)
	(x3 – 4x2 + 3x – 12)
		  = x2 (x – 4) + 3 (x – 4)
	(x3 – 4x2 + 3x – 12)
		  = (x2 + 3)(x – 4)
	(x2 – 7x + 12)
		  = x2 – 4x – 3x + 12
		  = x(x – 4) – 3(x – 4)
		  = (x – 4)(x – 3)
Common factor is (x – 4)

44.	 Option (2) is correct
Explanation: The given polynomial is 
8x3 – 6x2 + 10x + 3, which is divided 
by
On dividing we get,

8 –x3

– 8 –x3

–

6x2

8x2

8x2

2x2

+

+

+

–

+

10x

10x

12x
12x

2x

+

+

+

–

3

3

3

3

2x2 – 2x + 3

4 + 1x

Equating the quotients we get,
⇒		  2x2 – 2x + 3	 = 2x2 + k
⇒		  k	 = 3 – 2x

45.	 Option (4) is correct
Explanation: The product of the two 
expressions is
(9x2 + 15 – x)	(–1 – x + x2)
	 = –1(9x2 + 15 – x) – x(9x2 + 15 – x) 
� + x2(9x2 + 15 – x)
	 = �– 9x2 – 15 + x – 9x3 – 15x + x2 

+ 9x4 + 15x2 – x3

	 = �9x4 – 9x3 – x3 – 9x2 + x2 + 15x2 
– 15x + x – 15

	 = 9x4 – 10x3 + 7x2 – 14x – 15
A is the coefficient of x3 = – 10  
B is the coefficient of x2 =7
C is the coefficient of x = – 14
A + B – C = –10+7 – (–14)=11

46.	 Option (3) is correct
Explanation: The given expression is 
81x2 + 16y2 – 72xy

Where,	 x	 =
 

1
9

		  y	 =
 

−3
4

Putting the values in the given 
expression we get,
81x2 + 16y2 – 72xy

=
 
81

1
9

16
3

4
72

1
9

3
4

2 2
�
�
�

�
�
� �

��
�
�

�
�
� � �

�
�

�
�
�
��

�
�

�
�
�

= 1 + 9 + 6 = 16

47.	 Option (3) is correct
Explanation: The present age of 
daughter is x years.
Present age of Abhi is twice of x years.
			   = 2x years
Five years ago, daughter’s age was 
(x – 5) and Abhi’s age was four times 
the age of his daughter that is 4(x – 5) 
= (2x – 5)

48.	 Option (4) is correct
Explanation:
Given that P = ` 6250, R = 8%, T = 2 
¾ years = 2 years +3/4 years
Amount

	 = P
R R

1
100

1

3
4
100

2

��
�
�

�
�
� � �

�

�

�
�
��

�

�

�
�
��

		

= 6250 1
8

100
1

3
4

8

100

2

��
�
�

�
�
� � �

��

�

�
�
��

�

�

�
�
��

	 =
 
6250

108
100

108
100

106
100

7727 40� � � � .

		 = 7727.40
Amount is ` 7727.40

49.	 Option (4) is correct
Explanation: A person marks his 
goods 40% above the cost price and 
allows a discount of 40% on the 
marked price.
Let the CP be x,
Therefore, 
the 		  MP	 = x + 40% of x

			   = x + 40
100

x

			 
= 

100 40
100
x x+

			 
= 

140
100

x

			   = 1.4x
Now, he gave 40% discount on the 
marked price.
So, the selling price, 
		  SP 	= (100 – 40)% ×  1.4x
			   =0.84x

		  Loss % 	= 
CP SP

CP
��

�
�

�
�
� 100%

		   	
= 

x x
x

��
�
�

�
�
��

0 84
100

.
%

			 
= 

100 84x x
x
−

			 
= 

16x
x

			   = 16%
50.	 Option (4) is correct

Explanation: The sum of the angles 
is 360˚
Let the common factor be x
⇒  	 2x + 3x + 5x + 8x	 = 360°
⇒ 		  x 	= 20°
The largest angle is 8x = x × 20° 
= 160° and its supplement is 180˚– 
160˚= 20˚
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The smallest angle is 2x = 2 × 20° = 40° 
and its complement is 90˚– 40˚= 50˚
The sum of the supplement of the 
largest angle and the complement of 
the smallest angle is given as, 20˚+ 
50˚= 70˚

51.	 Option (4) is correct
Explanation: In the first case, let 
us assume that the perpendicular  
= x cm, base = 15 cm and the 
hypotenuse = 17 cm. The value of the 
third side of the given right angled 
triangle is x cm, using the Pythagoras 
theorem we have, 
		  x	 = 17 152 2−

			   = 289 225−

			   = 64  = 8 cm 

(which is less than 10 cm)
Now, in the second case, let the 
perpendicular 		  = 15 cm, 
		  base	 = 17 cm 
and the hypotenuse 	= x cm.

⇒ 		  x	 = 15 172 2+ cm

			   = 514 22 67= .  cm�
� (which lies between  

20 cm and 23 cm)
Thus, the statements B and C are 
correct.

52.	 Option (1) is correct
Explanation: ∠A +∠B +∠C = 180˚
(sum of all angles of a triangle is 180˚)
		 ∠A +∠C 	= 180˚– 110˚
			   = 70˚� …(I)

In ∆AOC,
	 ∠A/2 +∠C/2 +x 	= 180˚

⇒
	

1
2  

(∠A +∠C) + x	 = 180˚

⇒
	

1
2  

70° + x 	= 180˚

	 x	 = 180° – 35°
⇒ 	 x	 = 145°

53.	 Option (3) is correct
Explanation:
In ΔABC, AB = 4 cm, AC = 5 cm and 
BC = 6 cm.
In ΔPQR, PR = 4 cm, PQ = 5 cm and 
RQ = 6 cm.
AB = PR, AC = PQ and BC = RQ
Therefore, we can say that ΔABC ≅ 
ΔPRQ

54.	 Option (4) is correct
Explanation: The volume of the tank 
is length × breadth × height
The tank is 2/3 full, given that the 
length of the tank is 8 m and the 
breadth is 15 m. Let h be the height 
of the tank.

We can say that,

	
8 × 15 × h	 =

 

2
3  

× 540

⇒ 		  h	 = 
2
3

540
8 15

3�
�

�

		  h 	= 3 m
55.	 Option (1) is correct

Explanation: The ratio of the area of 
the two equilateral triangles is 16 : 9
The area of an equilateral triangles 

is 3
4

2
a

Let the side of one triangle be a1 and 
the side of the other equilateral be a2.
The ratio of the area of the two 
equilateral triangles is,

		

3
4
3

4

1
2

2
2

a

a
	

= 16
9

⇒		

a
a

1

2 	
= 4

3
If the perimeter of the smaller triangle 
is 63 cm, 
		  3a2 	= 63 cm, 
		  a2	 = 21 cm.

		  a1	 =
 

4
3

21 28� �
 
cm

Therefore, the difference between the 
sides of the larger and the smaller 
triangle is
	28 cm – 21cm	 = 7 cm

56.	 Option (4) is correct
Explanation: Let us assume that the 
radius of the circle be ‘r’
The perimeter of the circle is its 
circumference 
	 2pr	 = 6p, 

Or, 	 r	 = 
6
2

p
p

	 r	 = 3 cm
	 Area of the circle	 = pr2

		  = p × 32 cm2

Area of the triangle whose base is 8 

cm is 1
2  

× base × height.

As, it is given that the area of the circle 
= area of the triangle

⇒
 	

1
2

 × 8 × height 	= p ×32 

⇒ 		  height	 = p × 32 × 2 ×
 

1
8  

⇒ 		  height	 = p × 2.25 cm
57.	 Option (4) is correct

Explanation: Let us arrange the 
numbers in ascending order.
1, 2, 2, 3, 3, 4, 4, 4, 6, 8, 8, 9, 14
		  Median 	= (13+1)th/2 term 
Or,			   = (14/2)th term
			   =  7th term = 4
The number which repeats itself most 
is called mode of the data
		  Mode 	= 4

Range of Median, Mode and Range of 
the given data
		  = Highest value �
� – lowest value
		  = 14 – 1= 13
	Mean 	= (4 + 4 + 13)/3 = 21/3 = 7

58.	 Option (3) is correct
Explanation: As a teacher one 
should diagnose the causes and take 
steps for remediation. It’s crucial for 
teachers to identify the causes of their 
pupils’ maths difficulties and to take 
action to solve them. Revision of the 
basics, more practice opportunities, 
teaching good study habits, fostering 
a supportive learning environment 
and specialised interventions for 
students with learning disabilities 
are a few examples of remediation 
measures.

59.	 Option (1) is correct
Explanation: To ensure that visually 
impaired students have access to the 
same learning opportunities as their 
peers in an inclusive mathematics 
classroom, teachers must develop 
alternative teaching, learning and 
evaluation techniques. Teachers 
can foster equitable learning 
environments and support visually 
impaired student’s mathematical 
success by using these alternative 
teaching strategies.

60.	 Option (3) is correct
Explanation: Teachers can employ 
a variety of strategies including 
checklists, portfolios, projects and 
class participation to gauge their 
students’ enthusiasm and attitude 
towards mathematics. These methods 
may help teachers in understanding 
how students feel about mathematics 
and in identifying any areas where 
students might require more 
encouragement or support.
The enthusiasm and attitudes of 
students towards mathematical 
concepts or topics can be evaluated 
using checklists. The work of students 
can be gathered and evaluated over 
time using portfolios. This can assist 
teachers in evaluating students’ 
development and locating areas that 
may require more encouragement or 
support.

61.	 Option (1) is correct
Explanation: The purpose of conduc-
ting practical and experimental 
activities is not to help in scoring 
higher grades or marks. Practical and 
experimental activities are designed 
to give students hands-on experience 
and the chance to apply theoretical 
ideas in a practical situation. Through 
these exercises, students can deepen 
their comprehension of the material, 
improve their ability to think critically 
and solve problems and foster their 
creativity and curiosity.
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62.	 Option (2) is correct

Explanation: Aluminium is a metal 
and can conduct heat, as the strip gets 
heated up transfer of heat takes place 
and the wax pieces begin to fall one-
by-one in the order of their increasing 
distance from the flame. From the 
experiment the students may infer 
that aluminium strip transfers heat 
from the end nearer to the flame to 
the other end.
Statement (A) is the observation of 
the experiment and statement (B) is 
the inference.

63.	 Option (3) is correct
Explanation: With the help of the 
given question the teacher is trying 
to promote the skill of hypothesizing. 
The skill of hypothesizing is helpful 
to students because it encourages 
critical thinking, fosters creativity, 
curiosity, improves problem-solving 
skills and enhances scientific literacy.

64.	 Option (4) is correct
Explanation: Asking the students 
“Can the test be done without 
removing chlorophyll?” will assess 
the analysis of the students. Students 
must analyse the theories and 
procedures that underlie a particular 
experiment or test in order to 
answer this question. They must also 
determine whether any processes can 
be changed or eliminated without 
impacting the outcomes.
The use of chlorophyll in a test is 
particularly mentioned in this case of 
question. The teacher is challenging 
pupils to think about the function of 
chlorophyll in the test and whether 
it is necessary to produce correct 
findings by posing the question, “Can 
the test be done without removing 
chlorophyll?”

65.	 Option (1) is correct
Explanation: Supporters of inquiry-
oriented education can give 
students the salt and sand mixture, 
invite them to come up with other 
separation methods and assist 
them in putting those methods into 
practice. A teaching and learning 
approach known as inquiry-
oriented pedagogy emphasises the 
exploration and questioning process 
over the acquisition of preconceived 
knowledge. This approach is 
predicated on the idea that learning 
is most effective when students are 
actively engaged in asking questions, 
delving into ideas and coming up 
with new material through their own 
research.

66.	 Option (1) is correct
Explanation: The systematic study 
of the natural world and the 
creation of new information through 
observation, experimentation and 
analysis are both integral parts of the 
science discipline, which is an open-

ended venture. It is an investigative 
process that aims to comprehend 
how the universe functions and the 
causes behind why events take place 
the way they do. Science is primarily 
motivated by a desire to learn and 
discover new things rather than 
being connected to any one particular 
purpose or target.
On the other hand, technology has 
a specific purpose and frequently 
focuses on addressing a particular 
need or problem.

67.	 Option (4) is correct
Explanation: In reality, the sunflower 
(Helianthus annuus) is a collection of 
flower.
Sunflowers are made up of numerous 
little flowers, known as florets, that 
are grouped in a central disc and 
encircled by substantial structures 
resembling petals, known as ray 
florets. The seeds, which are what we 
commonly associate with sunflowers, 
can be produced by each floret.

68.	 Option (1) is correct
Explanation: The wheels on 
the bicycle rotate around their 
corresponding axles, which causes 
circular motion. The bicycle’s 
forward motion along the straight 
road is referred to as the translational 
motion. The motion is also periodic 
since the wheels rotate fully on a 
regular basis as the bicycle advances.
The bicycle exhibits translational 
motion as it moves forward while 
the wheels are rotating. The wheels 
complete one full round in a regular 
and repeating manner as the bicycle 
moves forward, creating a periodic 
motion with the combination of the 
circular and translational action.

69.	 Option (4) is correct
Explanation: Black soil is a fertile 
form of soil that is abundant in 
minerals like calcium, magnesium 
and potassium which are vital for 
plant growth. The cotton plants 
can get the water and oxygen they 
require to develop and thrive because 
of their high water-holding capacity 
and good aeration. Black soil is best 
for growing cotton.

70.	 Option (1) is correct
Explanation: An embryonic 
reproductive cell called a gamete 
may combine with another gamete 
to create a zygote. Male gametes are 
called sperm while female gametes 
are called eggs or ovum. An ovary 
releases the ova, a fully developed 
female reproductive cell, during 
ovulation. Following the fertilisation 
of the egg by the sperm, an embryo is 
a multicellular structure in the initial 
stages of development. Thus, embryo 
is the odd one out.

71.	 Option (1) is correct
Explanation: Saliva has a key 
role in starting the digestion of 
carbohydrates, particularly starch. 
The enzyme amylase, found in saliva, 
breaks down starch molecules into 
simpler ones like maltose and dextrin. 
The body can then break down and 
absorb these smaller molecules for 
energy.

72.	 Option (1) is correct
Explanation: Both inhaled air and 
exhaled air contain oxygen. And 
both inhaled air as well as exhaled 
air contains carbon dioxide. The 
oxygen in the air diffuses through 
the walls of the air sacs (alveoli) into 
the bloodstream when air is taken in 
by the lungs. The body’s cells then 
receive this oxygen and utilise it 
during cellular respiration to produce 
energy. Inhaled air has an oxygen 
content of about 21%.
Air is forced out of the lungs when 
we exhale and the oxygen content 
of expelled air is lower than that of 
inhaled air. The oxygen content of 
exhaled air normally ranges between 
16 and 17 percent.

73.	 Option (4) is correct
Explanation: In case of a plane mirror 
the image distance is same as the 
object distance.
Given that the distance between Ritu 
and her image is 10 m.
The image distance = object distance 
=	 5 m
But, as she moves 2 m towards the 
mirror,
The new object distance = the new 
image distance = 5m – 2m = 3 m
Therefore, the distance between Ritu 
and her image will become 3 m + 3 
m = 6 m.

74.	 Option (1) is correct
Explanation: An effective chemical 
indicator for determining whether 
a solution is basic or acidic is 
phenolphthalein. It is an acidic, 
colourless solution that changes 
to pink or magenta when a base is 
present. X is a salt, it is neutral and 
do not change colour in presence 
of phenolphthalein, Y is a basic 
solution that will turn pink when 
phenolphthalein is added to it and Z 
is an acid that show no colour change 
in presence of phenolphthalein.

75.	 Option (2) is correct
Explanation: From front to back, 
our teeth are typically arranged as 
follows:
Front teeth of upper and lower jaw 
or incisors, are utilised for biting and 
slicing food.
Canines are utilised for shredding 
and grasping food. They are the 
pointed teeth next to the incisors.
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The teeth next to the canines are 
known as premolars and they are 
used to grind and smash food.
The rear of the mouth’s molars, which 
are big teeth, are used to grind and 
chew food.

76.	 Option (2) is correct
Explanation: Plants use a mechanism 
called the transpiration pull, also 
known as the suction pull, to move 
water and nutrients from their roots 
to their leaves. Water is drawn up 
through the xylem tissue of the plant 
from the roots to the leaves as a result 
of the loss of water vapour from the 
leaves during transpiration. Cohesive 
forces between water molecules 
provide this negative pressure and 
the tension developed in the xylem 
tissue also contributes to the suction 
pull. The suction pull is fundamental 
to the survival and development of 
plants.

77.	 Option (3) is correct
Explanation: The rhizome, a sort of 
underground stem, is the component 
of ginger that reproduces. The portion 
of the ginger plant utilised in cooking, 
the rhizome, is renowned for its 
distinctive flavour and scent. The 
rhizome forms roots and shoots that 
sprout into new ginger plants as it 
expands horizontally underground. 
Ginger mainly reproduces 
vegetatively through the rhizome, 
which means that new plants are 
created from fragments of the parent 
plant rather than from seeds.

78.	 Option (3) is correct
Explanation: The presence of 
charged ions or particles that can 
move freely through a solution 
determines its capacity to conduct 
electricity. Because they don’t have 
a lot of free ions, distilled water and 
sugar solution are bad conductors of 
electricity.
In contrast, vinegar and salt solutions 
are electrical conductors because 
they have dissolved ions that are 
free to move. Acetic acid molecules, 
for instance, split apart in vinegar 
to form the electrically charged 
hydrogen ions (H+) and acetate ions 
(CH3COO–), which can flow through 
the solution. Similarly, sodium ions 
(Na+) and chloride ions (Cl–) separate 
from one another in a salt solution, 
they are then free to move around 
and carry an electrical charge.

79.	 Option (4) is correct
Explanation: Plants may survive 
without the process of photosynthesis 
for a while because it doesn’t take place 
at night. For plants to survive, both 
photosynthesis and respiration must 
occur simultaneously throughout 
the day. Respiration is necessary for 
delivering the energy and metabolic 
processes needed for growth, 

development and responding to the 
environment, plants cannot exist 
without it.
But plants cannot survive without 
respiration.

80.	 Option (3) is correct
Explanation: The forces exerted on 
an object are balanced when it is at 
rest on a surface, as a block of wood. 
When a block of wood is placed 
on a table, the force that the table 
normally applies to the block is equal 
to its weight and acts in the opposite 
direction. This indicates that the 
normal force of the table balances the 
weight of the block, which is the force 
brought about by gravity. As a result, 
the wood block is in a condition of 
static equilibrium and there is no net 
force acting on it.

81.	 Option (2) is correct
Explanation: Bamboos have parallel 
venation and fibrous root system. 
Mostly, parallel venation is noticed 
in plants with fibrous roots.

82.	 Option (2) is correct
Explanation: North and South poles 
are present in magnets. Opposite 
poles attract one another whereas 
like poles repel one another.
A magnet’s poles have a stronger 
magnetic field than other parts of the 
magnet. This is due to the magnetic 
field lines’ increased concentration 
near the poles, where they also 
emerge and converge.
The magnetic field surrounding a 
magnet is represented visually by 
magnetic field lines. Magnetic field 
lines are always complete loops that 
travel from a magnet’s north pole to 
its south pole. Attraction is not the 
surest test for a magnet as magnets 
can also repel.

83.	 Option (3) is correct
Explanation: Iodine is used on 
wounds, mercury is used in thermo-
meters, aluminium is used in food 
packing and chlorine is used in water 
purification.

84.	 Option (3) is correct
Explanation: When heated, thermo-
setting polymers undergo a chemical 
reaction that permanently changes 
them from a liquid or soft solid state 
to a hard, rigid and long-lasting 
material. They cannot be remelted or 
reshaped by using heat and pressure 
once they have been moulded and 
cooled.
Because it is a good insulator and can 
resist high temperatures, Bakelite is 
utilised in electrical equipment.
Melamine is used in making plastic 
toys, plates and jars that are used in 
kitchen.

85.	 Option (2) is correct
Explanation: When sulphur is 
burned, oxygen in the air combines 
with it to form sulphur dioxide gas.

O2(g) + S(s) → SO2 (g)
Sulphur dioxide gas dissolves into 
sulphurous acid when water is 
added to a container where it has 
been collected:

SO2(g) + H2O(l) → H2SO3 (aq)
Because sulphurous acid is a weak 
acid, it will cause the litmus paper to 
turn red when blue litmus is put to it.

86.	 Option (4) is correct
Explanation: In the given experiment 
sulphurous acid is formed due to 
reaction between water and sulphur 
dioxide.

87.	 Option (2) is correct
Explanation: The students will learn 
the skill of observation, inference 
and measurement through the given 
activity.

88.	 Option (2) is correct
Explanation: A substance’s viscosity 
is defined as its resistance to flow. 
Both oil and sugar solutions have 
viscosity, however due to the chemical 
characteristics and molecular struc-
tures of the two substances, their 
viscosities might vary. The teacher 
wants the students to understand 
one of the most important properties 
of liquid that is viscosity through the 
experiment she did in the class.

89.	 Option (3) is correct
Explanation: If the students think 
that soil is the only source of the 
building blocks for plant growth, 
then giving them a money plant in 
water and asking them to observe its 
development and draw conclusions 
would be the best course of action to 
disprove this notion.

90.	 Option (4) is correct
Explanation: The goal of the 
process validation criterion in 
science courses is to make sure that 
students participate in activities that 
foster the growth of their scientific 
knowledge and abilities. This implies 
that chances for scientific research, 
experimentation and the application 
of scientific ideas and principles 
to solve problems should be made 
available to pupils. involving pupils 
in practical exercises to improve 
students’ scientific knowledge and 
skills, chances for experimentation 
and observation of scientific 
phenomena should be made available 
to them. Encourage students to make 
observations, ask questions and do 
data analyses to help them hone their 
critical thinking abilities.

Language: English
91.	 Option (2) is correct.

Explanation: A language is a tool 
used to process ideas, which an 
individual uses to express his/her 
feelings, views, and opinions. Thus, 
we can say an individual processes 
his/her ideas, thoughts, beliefs, or 
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feelings that arise in his/her mind, 
and then through the language, he/
she communicates it with others.

92.	 Option (1) is correct.
Explanation: A child can learn a 
language best when they have a 
proficient language teacher. As, a 
language teacher can encourage 
children to enhance their language 
skills by providing opportunities 
or experiences by providing them 
knowledge about language interpre-
tation, their phonetic sounds, and can 
upskill their communication skills. 
With the help of various activities, a 
language teacher can encourage or 
provide opportunities for learners to 
experience and learn the language 
effectively.

93.	 Option (3) is correct.
Explanation: An educational frame-
work, Task-Based Language Teaching 
(TBLT), where opportunities are 
provided to learners to practice and 
learn the theory of a second language. 
Task-Based Language Teaching 
activities incorporate a variety of 
language skills such as reading, 
writing, listening, or speaking and 
opportunities are offered to students 
to actively engage in communication 
in a second language.

94.	 Option (1) is correct.
Explanation: Learning a second 
language is a deliberate and conscious 
process where learners learn another 
language other than their first/native 
language. The second language 
should be taught by using the target 
language as much as possible as it will 
help primary learners to understand 
it completely. Whereas, in higher 
classes, learners should be made 
familiar with the second language 
by translating words or sentences 
into the first language.

95.	 Option (4) is correct.
Explanation: In English phonetics, 
there are 44 sounds which include 
consonants and vowel sounds. Out 
of 44 sounds, there are:
n	20 sounds of vowels and
n	24 sounds of consonants.

96.	 Option (3) is correct.
Explanation: A speech community is 
a group of people who share the same 
grammatical rules and speak their 
own language in their community or 
group. There are 3 major components 
of the speech community that are as 
follows:
n	They have a common language.
n	Based on the common language 

that they use for interaction and 
communication with one another, 
they can be distinguished from 
other communities or groups

n	They can easily be distinguished 
from other communities or groups 
based on their language.

97.	 Option (3) is correct.
Explanation: Grammatical analysis 
and instruction designed for second-
language learners are known as 
pedagogical grammar. " The purpose 
of pedagogical grammar is to help 
language learners use grammar 
effectively and use language to 
communicate within the context 
of the target language." Thus, 
pedagogical grammar is learning 
grammar in context through use.

98.	 Option (3) is correct.
Explanation: When learners belong 
to diverse linguistic backgrounds, 
the teacher should use a multilingual 
approach. Supporting multilingual-
ism in the classroom will help students 
access more than one language, 
improve their understanding of 
their own language, and enhance 
the emotional and social well-being 
of learners, leading to higher- quality 
in the teaching-learning process as 
participation and involvement will 
increase.

99.	 Option (1) is correct.
Explanation: Reading a text does not 
involve only reading and explaining 
the text line by line, but factors 
affecting appropriate reading ability 
involve correct usage of vocabulary, 
phonetics, pauses, style, etc. Thus, 
when a teacher reads out and 
explains the text line-by-line it is not 
an appropriate method for teaching 
a text as learners will not get an 
opportunity to explore the reading 
his/her skills and will also, not be 
able to contribute to learners reading 
abilities.

100.	 Option (1) is correct.
Explanation: Post-reading tasks show 
a path for students to
n	Summarize what has been under-

stood from the text,
n	reflect on what he/she has read 

and
n	relate the text to learners’ know-

ledge and understanding.
n	answer what they have read in the 

text.
Thus, Post-reading tasks are meant 
for assessing the learning and 
connecting it to real-life situations.

101.	 Option (1) is correct.
Explanation: Intensive reading 
means reading text with complete 
focus and full concentration for a 
deeper understanding of the text. 
It involves reading the text in detail 
with aim of achieving some specific 
learning goals in teachers' and 
learners mind such as
n	vocabulary learning,
n	Use of correct grammar,
n	emphasizing correct pronuncia-

tion or
n	authors’ intentions and views in 

text, etc.
Thus, Intensive reading is aimed at 
helping the learners read a text for 
improving study skills.

102.	 Option (2) is correct.
Explanation: The process writing 
approach could be described as 
a bottom-up approach where the 
emphasis is given to writing as a 
means of communicating ideas or 
any kind of information. Through 
this approach, a learner gets a chance 
to write, produce a draft, review, edit 
and refine his/her writing.

103.	 Option (3) is correct.
Explanation: Abeera, an English 
teacher, describes a scene and asks 
the learners to draw what they have 
heard, this is an example of picture 
dictation. Picture dictation is a 
method where the teacher describes 
a picture or a sequence of pictures 
to students who draw what they 
hear from their teacher. This activity 
enhances the listening skills and their 
ability to visualize and comprehend 
information accurately

104.	 Option (2) is correct.
Explanation: A short play that has 
only one act is called a One-Act Play. 
Such types of plays might consist 
of one or more scenes. Thus, while 
teaching a ‘One-Act Play’ a tableau 
can be used as one of the teaching 
strategies. As, tableau refers to silent 
still images made by actors posing as 
characters.

105.	 Option (4) is correct.
Explanation: A teacher divides her 
class into pairs to exchange their 
notebooks and make corrections as 
per the directions of the teacher. She 
is doing a Peer Assessment.
n	Peer Assessment is a type of 

assessment where one or a group 
of students assess or evaluate 
other students’ work.

106.	 Option (2) is correct.
Explanation: “India was one of the 
world's richest countries in that age, 
so the capital’s commercial quarter 
was one of the most important trading 
and business centres in the East. The 
original Chandni Chowk was built 
around a canal of the Yamuna, which 
passed down the street, forming a 
pool that reflected the moonlight and 
gave the area its name.
The business of Chandni Chowk was 
business only.”
From the above lines of passage, 
we can say, the statements given in 
questions A and B are correct which 
are as follows:
n	A canal used to run through 

Chandni Chowk.
n	Business and trading were done 

on the banks of the canal.
107.	 Option (3) is correct.

Explanation: “Most of what we call 
Old Delhi was built by the emperor 
Shah Jahan who, with characteristic 
modesty, called it Shahjahanabad.”
From the above lines of passage, 
we can say, Shah Jahan named the 
new city of Delhi, Shahjahanabad. It 
shows his modesty.
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108.	 Option (1) is correct.

Explanation: “The city was built 
around 1640-1650 AD (so, by Delhi 
standards, it is actually young!) and 
remained the capital of the Mughal 
empire ever since.”
From the above lines of passage, we 
can say, By Delhi standards, Old 
Delhi is called young because it was 
built around 1640-1650 AD.

109.	 Option (3) is correct.
Explanation: “India was one of the 
world's richest countries in that age, 
so the capital’s commercial quarter 
was one of the most important 
trading and business centres in the 
East.
From the above lines of passage, we 
can say, During the Mughal period; 
Delhi was very prosperous because a 
lot of trade and commerce took place 
there.

110.	 Option (3) is correct.
Explanation: “Some people say that 
it was the ruthless reprisals from 
the British after the 1857 Mutiny/
War of Independence that destroyed 
the peaceful character of Chandni 
Chowk; as did the looting that 
was the hallmark of the East India 
Company’s soldiers”.
From the above lines of passage, 
we can say, East India Company’s 
soldiers were ruthless as they 
destroyed the peaceful character 
of Chandni Chowk and looted the 
country. Thus, we can conclude by 
saying East India Company soldiers 
were cruel and greedy.

111.	 Option (2) is correct.
Explanation: The underlined word 
(that) is pronoun.
n	Pronouns are used as a substitution 

for a noun. In other words, 
pronouns are words or phrases 
that are used to identify a specific 
person or thing.

112.	 Option (1) is correct.
Explanation: The underlined word 
(considering) is a/an adverb.
n	Adverb is a word or phrase that 

expresses manner, place, time, or 
degree and modifies the meaning 
of an adjective, verb, or adverb. 
Here, in the above sentence, 
‘considering’ is describing the 
phrase, “which is not terribly 
ancient”, thus, it is an adverb.

113.	 Option (4) is correct.
Explanation: The dictionary meaning 
of ‘mess’ is ‘a person whose life is full 
of confusion and problems’. Thus, we 
can say that the word ‘mess’ means 
the same as ‘confusion’.

114.	 Option (4) is correct.
Explanation: The word opposite in 
meaning to ‘reflected’ is absorbed.
n	Reflected means to reflect, back, 

or throwback heat, light, or sound 
without absorbing it.

n	Absorbed means to soak up any 
energy, liquid, or other substance 
by chemical or physical action.

115.	 Option (3) is correct.
Explanation: “I love the Brooks 
which down their channels fret
Even more than when I tripped 
lightly as they;”
From the above lines of the poem, we 
can say, that the poet loves the brooks 
now more than when he was young.

116.	 Option (2) is correct.
Explanation: “The Clouds that gather 
round the setting sun
Do take a sober colouring from an eye
That hath kept watch o’er man’s 
moraily”
From the above line of the poem, we 
can say that the clouds around the 
setting sun make the poet thoughtful. 
As poet thinks about the morality of 
human beings which means clouds 
gathering around the setting sun 
making him thoughtful.

117.	 Option (4) is correct.
Explanation: From the lines,
“The Clouds that gather round the 
setting sun
Do take a sober colouring from an eye
That hath kept watch o’er man’s 
moraily”
From the above line of the poem, we 
can say that, during his lifetime, the 
poet has thought about the mortal 
nature of man. In the final stanza, the 
speaker believed that nature might 
love its beauty more than before now.

118.	 Option (4) is correct.
Explanation: Today the poet is thank-
ful for
n	The human heart which is full of 

joys and sorrows
n	The palms won by him in the race 

of life.
The poet's adult knowledge appre-
ciates nature to its fullest with his 
childhood memories.

119.	 Option (4) is correct.
Explanation: The figure of speech 
used in line 1 is personification. Perso-
nification is a figure of speech where 
we give human characteristics and 
human qualities to something non-
human (such an animal or object).

120.	 Option (4) is correct.
Explanation: “The innocent bright-
ness of a newborn Day is lovely yet;” is 
an example of a “transferred epithet”. 
Transferred Epithet is a figure of 
speech where an epithet (adjective) 
is transferred from a person or thing 
to another that is describing it. In 
other words, we can say, an epithet 
is the transfer of a noun it is meant to 
describe another noun in a sentence.

Language: Hindi
121.	 fodYi (3) mfpr gSA

O;k[;kµljljh rkSj ij fdlh ikB dks ns[kdj 
mldh fo"k;oLrq dk irk dj ysuk i<+us dh 
,d egRoiw.kZ dq'kyrk gSA
eq[; fcUnqµ
(i)	 ljljh rkSj ij ikBd fo"k;oLrq dh 

:ijs[kk vius efLr"d esa rS;kj dj 
ysrk gSA

(ii)	 blls ikBd ds KkukRed fodkl dk 
irk pyrk gSA

	 ekuo vius fopkjksa dk vknku çnku eq[; :i 
ls pkj çfØ;kvksa ;Fkk lquus] cksyuk] i<+uk] 
rFkk fy[kuk }kjk djrk gSA iBu vFkok i<+uk 
Hkk"kk ds pkj dkS'kyksa esa ls ,d gSA
iBu ,d lkFkZd] mís';iw.kZ ,oa fparu çèkku 
çfØ;k gS ftlesa Hkk"kk dh lajpuk dh le> 
rFkk i<+s tk jgs ikB ds lkFk fon~;kFkhZ ds 
HkkoukRed lEcUèk Loj vFkZ xzg.k ij cy fn;k 
tkrk gSA ljljh rkSj ij fdlh ikB dks ns[kdj 
mldh fo"k;oLrq dk irk dj ysuk i<+us dh 
,d egRoiw.kZ dq'kyrk gSA ;g vkuankuqHkwfr 
ds fy, fd;s tkus okys iBu ls lacafèkr gSA

122.	 fodYi (4) mfpr gSA
O;k[;kµcPpksa ds cksyus&lh[kus ds lUnHkZ 
esa ;g dFku fcYdqy lgh gS fd cPpksa dks 
lquus vkSj cksyus ds vfèkd ls vfèkd volj 
nsus pkfg,A

	 eq[; fcUnqµ
(i)	 okpu dkS'ky lqn`<+ gksxkA
(ii)	 vfHkO;fDr vkSj l`tukRed 'kfDr dks 

çksRlkgu feysxkA
(iii)	 Jo.k dkS'ky fodflr gksxkA

	 ekuo vius fopkjksa dks lqudj] cksydj] 
i<+dj vkSj fy[kdj vfHkO;Dr djrk gS] 
Hkk"kk ls lacafèkr bu pkjksa çfØ;kvksa dks ç;ksx 
djus dh {kerk gh Hkk"kk dkS'ky dgykrh gSA
mijksDr pkjksa Hkk"kk dkS'kyksa esa ls ^okpu 
dkS'ky* Hkk"kkbZ dkS'ky dk ekSf[kd vfHkO;Dr 
:i gSA Hkk"kk f'k{k.k ds rgr ;g fdlh rF; 
dks cksydj i<+usa vkSj le>us ls lacafèkr gSA 
;gk¡ cPpksa ds cksyuk lh[kus ds lanHkZ esa ̂ cPpksa 
dks lquus vkSj cksyus ds vfèkd&ls&vfèkd 
volj nsus pkfg,* dFku lgh gS D;ksafd cPps 
Hkk"kk rd csgrj rjhds ls lh[krs gSa tc Hkk"kk 
dk le`¼ ifjos'k gksA

123.	 fodYi (4) mfpr gSA
O;k[;kµHkkstiqjh Hkk"kh eksuk ^'k* dks ^l* 
vkSj ^j* dks ^M+* cksyrh gSA bldk lokZfèkd 
lEHkkfor dkj.k ekr`Hkk"kk dk O;k?kkr gSA 
mPpkj.k esa nks"k mRiUu gksus dk dkj.k çk;% 
ekr`Hkk"kk ;k {ks=h;rk dk çHkko gh gksrk gSA 
eq[k ls v{kjksa dks cksyuk mPpkj.k dgykrk 
gSA lHkh o.kks± ds fy, eq[k esa mPpkj.k LFkku 
gksrs gSaA mPpkj.k Hkk"kk f'k{k.k dk ,d vfHkUu 
vax gS tks v{kjksa dks eq[k ls cksyus dh çfØ;k 
ls lacafèkr gSA mPpkj.k esa 'kq¼rk dk LFkku 
çeq[k gksrk gSA
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	 eksuk }kjk ^'k* dks ^l* vkSj ^j* dks ^M+* 
cksyus dh fLFkfr dks mldh ekr`Hkk"kk dk 
O;k?kkr vFkok {ks=h; Hkk"kk dk çHkko dguk 
mfpr gksxk D;ksafd cPpksa esa mPpkj.k lacaèkh 
nks"k dk çeq[k dkj.k çk;% ekr`Hkk"kk rFkk 
{ks=h;rk dk çHkko gh gksrk gSA vyx&vyx 
txgksa ij ,d gh 'kCn dk mPpkj.k fofHkUu 
rjhds ls ffd;k tkrk gS] ;gh dkj.k gS fd 
'kCnksa ds mPpkj.k esa bl ckr dk çHkko iM+rk 
gS fd cPpk fdl {ks= esa jg jgk gS vkSj fdl 
ekr`Hkk"kk dk ç;ksx dj jgk gSA
mnkgj.k% fcgkj esa ^M+* dks çk;% ^j* cksyk 
tkrk gSA vr% ;gka ;s laHkkouk cgqr T;knk 
c<+ tkrh gS fd ;gka ds cPps ^yM+dk dks 
yjdk* cksysaxsaA

124.	 fodYi (3) mfpr gSA
O;k[;kµd{kk III dh f'kf{kdk vius 
fo|kfFkZ;ksa dks ikB~;&iqLrd ls brj fHkUu&fHkUu 
çdkj ds cky&lkfgR; i<+us ds fy, çksRlkfgr 
djrh gS D;ksafd og pkgrh gS fd cPps viuh 
iBu {kerk c<+k ldsaA

	 cky lkfgR;µ
(i)	 jkspdrk çnku djrk gSA
(ii)	 vfèkd fp=ksa dk ç;ksx gksrk gSA
(iii)	 l`tu'khyrk vkSj dYiuk'khyrk esa 

lgk;d gSA
(iv)	 mRlkgh ikBd cuus ds fy, çksRlkfgr 

djrk gSA

	 ftlesa fgr dh Hkkouk dk fufgr gks ogh 
lkfgR; gSA lkfgR; euq"; ds Hkkoks] fopkjksa] 
?kVukvksa] vuqHkoksa dh Hkko lfgr çLrqfr gSA 
cky lkfgR; tks ckydks dks fy[kk x;k gksA
çkFkfed Lrj ij cPpksa dh iBu {kerk dk 
fodkl djus ds fy, cPpksa dks fHkUu&fHkUu 
çdkj ds cky&lkfgR; i<+us ds fy, çksRlkfgr 
fd;k tkrk gSA cPpksa esa Hkk"kkbZ fodkl ds 
fy, lkfgfR;d foèkkvksa tSls dfork] dgkuh] 
vkfn dks lcls vfèkd egRo fn;k tkrk gSA

125.	 fodYi (3) mfpr gSA
O;k[;kµmPp çkFkfed Lrj ij O;kdjf.
kd i{kksa] 'kCnksa dh ckjhfd;ksa ds vkdyu ds 
lUnHkZ esa lcls vfèkd egRoiw.kZ gS fd lUnHkZ 
esa O;kdj.k dks le>k tk,A
lUnHkZ esa O;kdj.kµ
(i)	 O;kdj.k fu;eksa dh tkudkjh çnku djus 

esa lgk;dA
(ii)	 O;kdj.k dk Øec¼ vè;;u djus esa 

lgk;dA

	 mPp çkFkfed Lrj ij O;kdjf.kd i{kksa] 
'kCnksa dh ckjhfd;ksa ds vkdyu ds lanHkZ esa 
lcls vfèkd egRoiw.kZ ^lanHkZ esa O;kdj.k 
le>uk* gS D;ksafd%
lanHkZ esa O;kdj.k ls rkRi;Z f'k{k.k dk;Z ds 
nkSjku ikB esa vkus okys 'kCnksa ls lEcfUèkr 
vU; 'kCn rFkk O;kdjf.kd fu;eksa dh tkudkjh 
çnku djus ls gSA ;g f'k{k.k ikB ds nkSjku 
ikB esa vkus okys 'kCnksa dk milxZ&çR;;] 
lafèkfoPNsn] vkfn crkdj O;kdjf.kd fu;eksa 
dks vklkuh ls le>us esa lg;ksx djrk gSA 

lanHkZ esa O;kdj.k fl[kkus ij cPpksa ds fy, 
O;kdjf.kd fu;eksa dks xzg.k djuk ljy gks 
tkrk gSA os mls vklkuh ls le>rs gSa ftlls 
fd mUgsa mu fu;eksa dks fcuk le>s daBLFk 
djus dh t:jr ugha gksrhA

126.	 fodYi (4) mfpr gSA
O;k[;kµgeus fo|kfFkZ;ksa dks ,d ç'u fn;k 
gSµß?kj ls fo|ky; vkus rd vki jkLrs esa 
tks&tks phtsa ns[krs gSa] mUgsa fy[ksaAÞ gekjh 
d{kk esa ,d fo|kFkhZ n`f"V&ckfèkr gSA ge 
ç'u esa ml cPps dh vko';drk ds vuqlkj 
ifjorZu dj nsaxsA
n`f"V&ckfèkrk fdlh Hkh rjg ds n`f"V gkfu dk 
o.kZu djus ds fy, mi;ksx fd;k tkus okyk 
'kCn gSA n`f"V&ckfèkr cPps vkaf'kd n`f"V gkfu 
ls xzflr gksrs gSaA bUgsa U;wu n`f"V ;k n`f"V ;k 
n`f"V v{kerk ds uke ls Hkh tkuk tkrk gSA

	 mijksDr fLFkfr esa f'k{kd }kjk ^ç'u esa ml 
cPps dh vko';drk ds vuqlkj ifjorZu 
djuk* mfpr çkoèkku gksxk D;ksafd ;g dne%
n`f"V&ckfèkr cPpksa esa vkRefo'okl vkSj 
Lora=rk dks c<+kok nsxkA n`f"V&ckfèk cPpksa dks 
f'k{kk çk.kkyh dk fgLlk cuus esa enn djsxkA

	 n`f"V&ckfèkr dks v{kerk ds ckotwn leqfpr 
lek;kstu esa lg;ksx djsxkA

127.	 fodYi (4) mfpr gSA
O;k[;kµmPp çkFkfed Lrj ij cPpksa dh 
Hkk"kkbZ {kerkvksa dk vkdyu djus ds fy, 
lokZfèkd mi;ksxh gSµ ikB esa vkbZ dgkuh dks 
vkxs c<+okukA
eq[; fcUnqµ
(i)	 dgkuh ds ekè;e ls l`tu'khyrk rFkk 

dYiuk'khyrk dk fodkl gksxkA
(ii)	 ckSf¼d Lrj lqn`<+ gksxkA
(iii)	 fo|kFkhZ Hkk"kkbZ Kku dk irk py ldsxkA

	 mPp çkFkfed Lrj ij cPpksa dh Hkk"kkbZ 
{kerkvksa dk vkdyu djus ds fy, ikB 
esa vkbZ dgkuh dks vkxs c<+okuk lokZfèkd 
mi;ksxh gS D;ksafd fdlh dgkuh ds ekSf[kd 
;k fyf[kr o.kZu djus ds nkSjku cPps%
okLrfod vuqHko ds lkFk Hkk"kkbZ dkS'kyksa dks 
lqxerk ls xzg.k djsaxsA rF;ksa dks Lo;a ds 
futh vuqHkoksa ls tksM+ dj vius fopkjksa dks 
vfHkO;Dr djsaxsA

	 Lora= ,oa ekSfyd vfHkO;fDr ds volj 
çkIr dj vius fopkjksa dks [kqydj j[ksaxsA

128.	 fodYi (1) mfpr gSA
O;k[;kµßcPps vius pkjksa vksj fyf[kr 
lkexzh dk ftruk mi;ksx gksrs ns[ksaxs mruh gh 
fyf[kr Hkk"kk ds çfr mudh le> lgt :i 
ls curh pyh tk,xhAÞ mi;qZDr dFku dk 
fufgrkFkZ gSµ cPpksa dks vius bnZ&fxnZ foKkiu] 
gksfM±Xl] dSysaMj] cky&lkfgR;] lwfp;k¡ vkfn 
ns[kus&i<+us ds volj feyrs jgus pkfg,A 
le`¼ Hkkf"kd ifjos'k ls rkRi;Z ,sls ifjos'k 
ls gS ftlesa cPps Hkk"kk dks vfèkdkfèkd ns[k] 
lqu vkSj ç;ksx dj ldsaA ;g cPpksa ds Hkk"kkbZ 

fodkl esa vR;fèkd ykHkdkjh gksrk gS D;ksafd 
;gµ

	 cPpksa dh le> dks 'kCnksa vkSj okD;ka'kksa dh 
jpuk ds lacaèk esa foLrkj nsrk gSA cPps esa 
vfHkO;fDr] jpukRedrk] l`tukRedrk rFkk 
dYiuk'khyrk dks çksRlkgu nsrk gSA cPpksa esa 
Hkk"kk Kku ds çfr ftKklk mRiUu djrk gS 
ftlls cPps lfØ; gksdj Hkk"kk lh[krs gSaA 
cPpksa esa lgt Hkk"kk fodkl dh uhao j[krk 
gS rFkk mUgsa jpukRed xfrfofèk;ksa esa layxu 
djrk gSA cPpksa dh Hkk"kk lacaèkh fofoèk 
vko';drkvksa dks fofHkUu Hkk"kk ekWMyksa rFkk 
midj.kksa }kjk iw.kZ djrk gSA

129.	 fodYi (2) mfpr gSA
O;k[;kµ^Hkk"kk vtZu* lgt gksrk gSA
Hkk"kk vtZuµ
(i)	 ml çfØ;k dks dgrs gSa ftlds }kjk 

ekuo Hkk"kk dks xzg.k djus ,oa le>us 
dh {kerk vftZr djrk gS rFkk ckrphr 
djus ds fy, 'kCnksa vkSj okD;ksa dk 
ç;ksx djrk gSA

Hkk"kk vtZu ,d lgt ,oa LokHkkfod çfØ;k 
gS ftlesa cPpsa ?kjsyw ifjos'k esa Hkk"kk ds 
fu;eksa dks vklkuh ls vkRelkr~ djrs gSa] 
vkSj cPps Hkk"kk dks lgt vkSj LokHkkfod 
:i ls lh[krs gSaA Hkk"kk vtZu ds ekè;e 
ls ckyd vuqdj.k }kjk çFke Hkk"kk lh[kdj 
viuh ckrksa dks cksypky vFkkZr ?kj dh Hkk"kk 
esa vklkuh ls vfHkO;Dr dj ikrk gSA Hkk"kk 
vtZu çfØ;k ds ekè;e ls cPps vuqdj.k  
}kjk Hkk"kk lh[kdj viuh ckrksa dks vfHkO;Dr 
dj ikus esa l{ke gks ikrk gSA

130.	 fodYi (2) mfpr gSA
O;k[;kµvuqeku ds lkFk Hkko xzg.k dh fLFkfr 
esa ge dgsaxs fd ^iBu* gks jgk gSA iBu Hkk"kk 
ds egRoiw.kZ pkj dkS'kyksa esa ls ,d gSA ;g 
,d fpUru çèkku çfØ;k gSA
iBu dkS'ky dk egRoµ
(i)	 KkuksiktZu dk ,d lkèku gSA
vuqeku ds lkFk Hkko xzg.k dh fLFkfr ls ;g 
Li"V gksrk gS fd ^iBu* gks jgk gS D;ksafd 
iBu çfØ;k rHkh lkFkZd fl¼ gksrh gS tc 
,d ikBd%
,d fuf'pr mís'; dks è;ku esa j[krs gq, i<+rk 
gSA ifBr oLrq ds vFkZ dks lanHkkZuqlkj xzg.k 
djrs gq, i<+rk gSA iBu ds nkSjku vkxs vkus 
okys rF;ksa dk vuqeku yxkrs gq, i<+rk gSA	

131.	 fodYi (1) mfpr gSA
O;k[;kµmPp ekè;fed Lrj ij fgUnh 
Hkk"kk dh ikB~; iqLrd esa fgUnhrj Hkk"kkvksa 
dh jpukvksa dks Hkh LFkku nsus dk eq[; mís'; 
gSµvU; Hkk"kkvksa ds mRÏ"V lkfgR; ls ifjfpr 
djkukA
mís';µ
(i)	 lkekftd&lkaLÏfrd fLFkfr ls ifjfpr 

djkukA
(ii)	 fofHkUu Hkk"kkvksa ls ifjfpr djkukA
(iii)	 fofHkUu Hkk"kkvksa ds lkfgfR;dkjksa ls 

ifjfpr djkukA
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	 mPp ekè;fed Lrj ij fgUnh Hkk"kk dh 

ikB~;&iqLrd esa fgUnhrj Hkk"kkvksa dh jpukvksa 
dks LFkku nsus dk vU; mís';%
cPps lkekftd laLÏfr ls ifjfpr gks ldsaA

	 cPps Hkk"kk dh fofHkUu jaxrksa ls ifjfpr gks 
ldsaA
cPps fgUnhrj Hkk"kk ds lkfgR; ls ifjfpr 
gks ldsaA

	 cPps fgUnhrj Hkk"kh lkfgR;dkjksa ls ifjfpr 
gks ldsaA
cPps fgUnhrj Hkk"kk ds jpuk 'kSyh ls ifjfpr 
gks ldsaA

	 cPps fgUnhrj Hkk"kkvksa ds }kjk laosnukvksa dks 
foLrkj ns ldsaA

132.	 fodYi (4) mfpr gSA
O;k[;kµcPpksa dh l'kDr ys[ku {kerk dk 
ifjpk;d ekSfyd fopkj gSA ekSfyd fopkj 
l`tu esa lgk;d gksrs gSA ekSfyd fopkj }kjk 
cPpksa ds Hkko vfHkO;kIr gksrs gSaA ys[ku dyk 
bu fopkjksa dks çHkkoh cukrh gSA

	 mijksDr pkjksa Hkk"kk dkS'kyksa esa ls ^ys[ku 
dkS'ky* Hkk"kkbZ dkS'ky dk fyf[kr vfHkO;Dr 
:i gSA ;g Hkkoksa vkSj ekSfyd fopkjksa dks 
vFkZiw.kZ rjhds ls fyf[kr :i nsus ls lacafèkr 
gSA
ekSfyd fopkj ls rkRi;Z fopkjksa esa ekSfydrk 
vFkkrZ uohurk dk gksuk gSA ekSfyd fopkj 
fon~;k gS ftlds }kjk euq"; fdlh leL;k 
ds lekèkku rd igqaprk gS] thou fd leL;k 
lqy>krk gS rFkk lgh ekxZ pqurk gSA

133.	 fodYi (2) mfpr gSA
O;k[;kµeqgkojs vkSj yksdksfDr;k¡ lh[kus& 
fl[kkus dk ,d  egRoiw.kZ mís'; eqgkojs ,oa 
yksdksfDr;ksa dk lqfpafrr ç;ksx djuk gSA
eqgkojkµ
(i)	 vfHkèks;kFkZ ls fHkUu dksbZ fo'ks"k vFkZ nsus 

okys fdlh Hkk"kk ds xBs gq, :<+ okD;] 
okD;ka'k ;k 'kCn&lewg dks eqgkojk dgk 
tkrk gSA

yksdksfDrµ
(i)	 yksd esa çpfyr mfDrA
(ii)	 fdlh fo'ks"k LFkku ij çfl¼ gks tkus 

okys dFku dks yksdksfDr dgrs gSaA

	 eqgkojs vkSj yksdksfDr;k¡ lh[kus&fl[kkus 
dk ,d egRoiw.kZ mís'; gS eqgkojs ,oa 
yksdksfDr;ksa dk lqfpafrr ç;ksx djuk D;ksafd 
fgUnh Hkk"kk dh lkSan;Z vkSj vkapfydrk cuk, 
j[kus gsrq f'k{k.k dk;Z ds nkSjku ikB esa fufgr 
rF;ksa ds lanHkZ esa eqgkojksa vkSj yksdksfDr;ksa 
dk lqfpafrr vkSj mfpr ç;ksx%
Hkk"kk ç;ksx dks çHkkoh cukrk gSA

	 Hkkf"kd vfHkO;fDr dks ltho cukrk gSA
ikB dks vFkZiw.kZ] çokgiw.kZ vkSj :fpdj 
cukrk gSA

	 cPpksa esa fyf[kr&ekSf[kd vfHkO;fDr dkS'ky 
dk fodkl djrk gSA
cPpksa dks rF;ksa dks lanHkZ esa tksM+dj vklkuh 
ls le>us esa enn djrk gSA

134.	 fodYi (2) mfpr gSA
O;k[;kµeqDr vUr okys ç'u cPpksa dh 
Hkk"kkxr jpukRedrk dk vkdyu djus esa 
lokZfèkd :i ls mi;qDr gksaxsA blls cPpksa 
dh l`tukRed 'kfDr fodflr gksxhA 

	 eqDr var okys ç'u cPpksa dh Hkk"kkxr 
jpukRedrk dk vkdyu djus esa lokZfèkd 
:i ls mi;qDr gksrs gSa D;ksafd ,sls ç'u%
cPpksa dks fn'kkvksa esa lkspus ds fy, çsfjr 
djrs gSaA

	 cPpksa ds fopkjksa esa ekSfydrk dk lekos'k 
djrs gSaA
O;k[;kRed vkSj o.kZukRed mÙkj nsus ;ksX; 
ugha gksrs gSaA

	 cPpksa esa vilkjh fparu rFkk l`tukRedrk 
dks c<+kok nsrs gSaA

135.	 fodYi (3) mfpr gSA
O;k[;kµriL;k lkroha d{kk esa fofHkUu 
lUnHkks± esa ^i`Foh* ^olqèkk* vkSj ^Hkwfe* 'kCnksa 
ds ç;ksxksa dh rjQ cPpksa dk è;ku vkdf"kZr 
djrh gSA ,slk djus esa mldk mís'; gSµ 
fgUnh dh ckjhfd;k¡ le>kukA
eq[; fcUnqµ
(i)	 rF;ksa dks lUnHkZ ls tksM+ dj le>kus esa 

lgk;d gSA
(ii)	 fu;eksa dh igpku esa lgk;d gSA

	 riL;k dk mís'; cPpksa dks fgUnh dh 
ckjhfd;k¡ le>kuk gS D;ksafd ;gk¡ bu 'kCnksa 
ds ekè;e ls f'kf{kdk%
cPpksa dks fgUnh Hkk"kk ds ,d gh 'kCn ds 
fofHkUu :i ls ifjfpr djk jgh gSA

	 cPpksa dks rF;ksa dks lanHkZ esa tksM+dj vklkuh 
ls le>us ;ksX; cukuk pkgrh gSA
cPpksa esa i;kZ;okph 'kCnksa ds lqfpafrr vkSj 
mfpr ç;ksx dks lqfuf'pr dj jgh gSA

	 fofHkUu lUnHkks± esa bu 'kCnksa dk ç;ksx dj 
fgUnh Hkk"kk dh fofHkUu jaxrksa ls :c: djk 
jgh gSA

136.	 fodYi (4) mfpr gSA
O;k[;kµ;fn dchj dk le; iUægoha 
'krkCnh bZloh gS rks fr:oYyqoj dk le; 
yxHkx 500 o"kZ bZ-iw- gksxkA

	 mÙkj Hkkjr ds lUr dchj vkSj nf{k.k Hkkjr 
ds lUr dfo fr:oYyqoj ds le; esa yxHkx 
nks gtkj o"kZ dk varjky gS fdUrq bu nksuksa 
egkdfo;ksa ds thou esa vn~Hkqr lkE; ik;k 
tkrk gSA

	 fr#oYyqoj ,d ç[;kr rfey dfo gS ftUgksaus 
rfey lkfgR; esa uhfr ij vkèkkfjr Ïfr 
fFk#djy dk l`tu fd;kA mUgsa Fksok iqyoj] 
oYyqoj vkSj iks;keksM+h iqyoj tSls vU; ukeksa 
ls Hkh tkuk tkrk gSA

137.	 fodYi (3) mfpr gSA
O;k[;kµfr:oYyqoj ds vuqlkj Js"B èkeZ 
eu ls ifo= gksuk gSA

	 Js"Bµ xq.kokpd fo'ks"k.k gSA
Js"Brkµ Hkkookpd laKk gSA

138.	 fodYi (3) mfpr gSA
O;k[;kµ^rfey* rfeyukMq çns'k dh Hkk"kk 
gSA

	 rfey ikafMpsjh vkSj rfeyukMq ljdkj dh 
,d vkfèkdkfjd Hkk"kk gSA rfey Hkk"kk dk 
ç;ksx dsaæ'kkflr çns'k iqnqpsjh esa fdlh Hkh 
vkfèkdkfjd mís'; ds fy, fd;k tkrk gSA 
eqy;kye Hkk"kk vkfèkdkfjd :i ls dsjy jkT; 
esa mi;ksx dh tkrh gS] vkSj ;g dsjy esa yksdfç; 
gSA rfey rfeyukMq esa lcls yksdfç; Hkk"kk 
gS vkSj Jhyadk esa ,d vkfèkdkfjd Hkk"kk Hkh 
gSA fgUnh mÙkj Hkkjr dh ,d yksdfç; Hkk"kk gS 
vkSj mÙkj çns'k dh vkfèkdkfjd Hkk"kk ds :i 
esa mi;ksx dh tkrh gSA

139.	 fodYi (4) mfpr gSA
O;k[;kµtks lEcUèk pUæxqIr dk pk.kD; ls 
Fkk ogh lEcUèk ,Yyky dk fr:oYyqoj ls FkkA
fr:oYyoqj dk çkekf.kd thou&o`Ùkkar çkIr 
ugha gksrkA çk;% mUgsa psUubZ ds fudV ebykiqj 
xk¡o dk tqykgk ekuk tkrk gS fdUrq dqN yksxksa 
ds vuqlkj os jktk ,Yyky ds 'kklu esa ,d 
cM+s inkfèkdkjh Fks vkSj mUgsa oSlk gh lEeku Fkk 
tSlk pUæxqIr ds 'kkludky esa pk.kD; dksA 
jktk ,Yyky ds 'kklu esa ,d cM+s inkfèkdkjh 
Fks vkSj mUgsa oSlk gh lEeku çkIr Fkk tSlk 
paæxqIr ds 'kkludky esa pk.kD; dksA muds 
ckjs esa muds nardFkk,¡ çpfyr gSaA tSls&dgk 
tkrk gS fd ,d laU;klh ukjh tkfr ls ?k`.kk 
djrk FkkA mldk fo'okl Fkk fd fL=;k¡ cqjkbZ 
dh tM+ gSa vkSj muds lkFk bZ'oj&HkfDr gks 
gh ugha ldrhA fr:oYyoj us cM+s vknj ls 
mls vius ?kj cqyk;kA nks fnu muds ifjokj esa 
jgdj laU;klh ds fopkj gh cny x,A mlus 
dgk] ß;fn fr:oYyoj vkSj mudh iRuh tSlh 
tksM+h gks rks x`gLFk thou gh Js"B gSAÞ

140.	 fodYi (2) mfpr gSA
O;k[;kµfr:oYyqoj vkSj dchj esa lkE; 
ds fcUnq gSaµ
(i)	 tUe ds ckj ekrk&firk ds }kjk R;kx 

nsukA
(ii)	 ,d ls NUn esa dfork djukA
(iii)	 tqykgs dk O;olk; djukA

	 tUe ds ckn nksuksa dks ekrk&firk }kjk R;kx 
fn;k x;k FkkA
nksuksa dk O;olk; diM+s cquus (tqykgs) dk FkkA

	 nksuksa us NksVs&NksVs NUnksa esa nksgs fy[ksA
nksuksa us LkkfÙod x`gLFk thou dks viuk;kA

141.	 fodYi (4) mfpr gSA
O;k[;kµukjh tkfr ls ?k`.kk djus okys laU;klh 
ds fopkj fr:oYyqoj us viuh x`gLFkh dks 
lk{kh cukdj cnysA
,d laU;klh ukjh tkfr ls ?k`.kk djrk FkkA 
mldk fo'okl Fkk fd fL=;k¡ cqjkbZ dh tM+ gSa 
vkSj muds lkFk bZ'oj HkfDr gks gh ugha ldrhA 
fr:oYyqoj us cM+s vknj ls mls vius ?kj 
cqyk;kA nks fnu muds ifjokj esa jgdj laU;klh 
ds fopkj gh cny x,A mlus dgkµß;fn 
fr:oYyqoj vkSj mudh iRuh tSlh tksM+h gks 
rks xzgLFk thou gh Js"B gSAÞ



Paper-2:  16th September, 2016 �  373

	 lar fo:oYyoj us czãp;Z ds LFkku ij 
lkfRod x`gLFk thou dks viuk;k FkkA ,d 
laU;klh tks ukjh tkfr ls ?k`.kk djrk Fkk mls 
fr:oYyoj us viuh x`gLFkh dk cM+k lVhd 
mnkgj.k fn;kA ftlls ml laU;klh ds fopkj 
ukjh tkfr ds ckjs esa iwjh rjg ls cny x,A

142.	 fodYi (3) mfpr gSA
O;k[;kµ^bZ'oj&HkfDr* 'kCn dk foxzg vkSj 
lekl ^bZ'oj dh HkfDr&rRiq#"k* gksxkA
rRiq#"k leklµ
(i)	 ftl lekl esa f}rh; in ;k mÙkj in 

çèkku gks mls rRiq#"k lekl dgrs gSaA
(ii)	 çFke in laKk ;k fo'ks"k.k gksrk gSA

	 lekl&nks ;k nks ls vfèkd 'kCnksa ds esy ls 
cuus okys us rFkk NksVs 'kCnksa dks lekl dgrs 
gSaA rRiq#"k lekl&bl lekl esa iwoZ in xkS.k 
rFkk mÙkj in çèkku gksrk gS rFkk foHkfDr;ksa 
dk yksi gks tkrk gSA tSlsµns'kHkfDr (ns'k ds 
fy, HkfDr)A

143.	 fodYi (4) mfpr gSA
O;k[;kµ>wB dks R;kx nsus ij fdlh èkeZ dh 
vko';drk ugha jg tkrhA
èkeZ ds ckjs esa nks dqjyksa dk vk'k; gSµ
(i)	 Hkæ iq#"kksa! ifo= eu gksuk gh èkeZ gSA 

LoPN eu okys ouksa vkSj ns[kks rqe 
mUufr ds f'k[kj ij dgk¡&ls dgk¡ igq¡p 
tkrs gksA

(ii)	 >wB us cksyus ds xq.k dks xzg.k djks rks 
fdlh vU; èkeZ dh vko';drk gh u 
jgsxhA

	 ukfLrdµ bZ'oj dks u ekuus okyk
vkfLrdµ bZ'oj dks ekuus okyk

144.	 fodYi (2) mfpr gSA
O;k[;kµ^Lusg* vkSj ^tru* 'kCn Øe'k% 
rRle vkSj rn~Hko gSaA
rRle 'kCnµ

(i)	 tks 'kCn laLÏr ds leku gksrs gSaA
(ii)	 fcuk dksbZ cnyko djs mi;ksx esa ykrs 

gSaA
rn~Hko 'kCnµ
(i)	 tks 'kCn laLÏr ls mRiUu gq, gSa ij 

budk ç;ksx ewy :i esa ugha gksrkA
(ii)	 ;g 'kCn ifjofrZr gksdj fgUnh Hkk"kk esa 

vk, gSaA

	 fgUnh Hkk"kk esa mRifÙk ds vkèkkj ij 'kCn ds 
pkj Hksn gksrs gSa_
(1)	 rRle 'kCn&laLÏr Hkk"kk ls T;ksa ds R;ksa 

fy, x, 'kCnA pUæ] Lusg vkfnA
(2)	 rnHko 'kCn&ftu 'kCnksa dk :i cnydj 

laLÏr ls fgUnh esa ç;ksx fd;k tkrk gSA 
cUnwd] pkan vkfnA

(3)	 ns'kt 'kCn&ftu 'kCnksa dh mRifÙk ds 
dksbZ L=ksr ugha gSaA yksVk] f[kM+dh vkfnA

(4)	 fons'kh 'kCn&nwljs ns'k dh Hkk"kkvksa 
(vjch] Qkjlh mnwZ] vaxzsth vkfn) ds 
'kCn ftldk ç;ksx ge fgUnh Hkk"kk esa 
djrs gSaA p'ek] MkDVj] bykt vkfnA

145.	 fodYi (4) mfpr gSA
O;k[;kµ^ek¡* lEcksèku ekr`Hkwfe ds fy, gSA

	 ek¡µ çlw] eS;k] egrkjh] ekbZ] èkk=h] ekrk] 
tuuh
nqxkZµ pafMdk] Hkokuh] txnack] dY;k.kh] 
egkxkSjh] dkfydk] lqHkæk] vEck] vfEcdk] 
'kSyiq=hA

146.	 fodYi (4) mfpr gSA
O;k[;kµdfo fuosnu dj jgk gS fd mlds 
thounku dks Lohdkj fd;k tk,A bl fy, 
og dgrk gS fdµ
ßFkky esa ykÅ¡ ltkdj Hkky tc Hkh dfork 
ds çkjafHkd iafDr;ksa esa dfo ekr`Hkwfe ds fy, 
vius ½.kh vkSj ekr`Hkwfe ds ½.k pqdkus esa 

vleFkZ ,d vfr fuèkZu ds :i esa viuh Nfo 
çLrqr dj jgk gSA ftlesa dfo ekr`Hkwfe ls 
;s çkFkZuk djrk gS fd le; vkus ij tc og 
viuk eLrd Fkky esa ltkdj mlds le{k 
çLrqr djs rks ½.k Lo:i mlds bl cfynku 
dks n;k djds Lohdkj fd;k tk,A 	
dj n;k Lohdkj ysuk og leiZ.kAÞ

147.	 fodYi (3) mfpr gSA
O;k[;kµ^uhM+ dk d.k&d.k lefiZr* dFku 
esa ^uhM+* dk vk'k; ?kj&ifjokj ls gSA oSls 
^uhM+* dk vFkZ ^fpfM+;ksa ds cSBus dk LFkku] 
?kksalyk* gS ysfdu dkO;ka'k esa blls rkRi;Z 
?kj&ifjokj ls gSA D;ksafd dfo ?kj&ifjokj dks 
Hkh ek¡ dks lefiZr djuk pkgrk gSA

148.	 fodYi (3) mfpr gSA
O;k[;kµßpkgrk gw¡] ns'k dh èkjrh] rq>s dqN 
vkSj Hkh nw¡ÞµdFku esa ^dqN vkSj* ls rkRi;Z 
gS fd dqN ,slk fn;k tk, tks cfynku ls Hkh 
c<+dj gksA

149.	 fodYi (1) mfpr gSA
O;k[;kµ^vfdapu* dk vFkZ gSµvfr fuèkZuA 

	 vafdapuµ xjhc] fuèkZu] nhughu] nfjæA
150.	 fodYi (1) mfpr gSA

O;k[;kµ^cfynku* 'kCn ls cuk fo'ks"k.k 
^cfynkuh* gSA
fo'ks"k.kµ
(i)	 laKk vFkok loZuke 'kCnksa dh fo'ks"krk 

crkus okys 'kCnksa dks fo'ks"k.k dgrs gSaA
(ii)	 mnkgj.k ds fy,µdkyk] eksVk] dk;j] 

lqUnj bR;kfnA

	 laKk 'kCn esa çR;; yxkdj Hkh fo'ks"k.k 'kCn 
dh jpuk dh tkrh gSA tSls&jktLFkku $ bZ = 
jktLFkkuh] I;kl $ vk = I;klk] ekek $ ,jk 
= eesjk bR;kfnA


